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Q.1 Select the most appropriate synonym of the given word.
PRAGMATIC
Ans x 1. Precarious

x 2. Excited
« 3. Realistic

x 4. Gorgeous

Question ID : 3786061689
Status : Answered
Chosen Option: 3

Q.2 Select the most appropriate article to fill in the blank. If no article is needed, select 'No
article' as your answer.

Can you give me

Ans ?‘ﬁ-a

X 2. No article

x 3.an
«. 4. the

book on the table?

Question ID : 3786061685
Status : Answered
Chosen Option : 4

Q.3 Select the option that can be used as a one-word substitute for the given phrase.

The study of languages in oral and written historical sources.
Ans x 1. Philately

x 2. Forensic
« 3. Philology
x 4. Philosophy

Question ID : 3786061687
Status : Not Answered
Chosen Option : --




Q.4 Select the most appropriate preposition to fill in the blank.

Narendranath is fond old cars.

Ans X 1. on
75 2. for
W 3.of
X 4. with

Question ID : 3786061686
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate synonym of the given word.

DENIZENS
Ans X" 1 Habitual

x 2. Immigrants

« 3. Inhabitant

75 4. Alien

Question ID : 3786061688
Status : Answered
Chosen Option: 3

Comprehension:
Read the passage carefully and answer the given questions.

India’s middle class is not a homogenous group. The McKinsey Global Institute, which defines
India’s middle class as households with real annual disposable incomes between 200,000 and
1 million rupees, estimates the ranks of middle class will soar from 50 million in 2005 to over
250 million in 2015; and by 2025, it will more than double to 583 million (41percent of the
population). Wherever they are, the members of India’s new middle class share dreams of
upward mobility. They draw their inspiration from the success of professionals such as
software engineers and entrepreneurs who, through their pursuit of education and hard work,
emerged from small towns and simple homes to become billionaires. According to the
Ministry of Education, the percentage of 18 to 24-year-olds in India enrolling in university has
shot up 63 percent in the past four years.

This is a dramatic change from the middle classes of post-independence India, for whom a
permanent government job was the pinnacle of slow but stable upward mobility. The opening
of India’'s economy in 1991 has resulted in private-sector career opportunities, both at home
and abroad—unimaginable a few decades ago. The rise of India’s middle class also heralds a
rise in consumption, especially in urban areas—including emerging middle-tier and smaller
cities. According to McKinsey, India will become the world’s fifth-largest consumer market by
2025. Rural or urban, middle-class Indians expect the best education, the latest products and,
increasingly, a place for India among the world’s major powers.

SubQuestion No : 6
Q.6 To what extent was India's middle class estimated to increase from 2005 to 2015?

Ans \,TFive—foId

25 2. Half

25 3. Onefifth

x 4. Double

Question ID : 3786061691
Status : Answered
Chosen Option: 1




Comprehension:
Read the passage carefully and answer the given questions.

India’s middle class is not a homogenous group. The McKinsey Global Institute, which defines
India’s middle class as households with real annual disposable incomes between 200,000 and
1 million rupees, estimates the ranks of middle class will soar from 50 million in 2005 to over
250 million in 2015; and by 2025, it will more than double to 583 million (41percent of the
population). Wherever they are, the members of India’s new middle class share dreams of
upward mobility. They draw their inspiration from the success of professionals such as
software engineers and entrepreneurs who, through their pursuit of education and hard work,
emerged from small towns and simple homes to become billionaires. According to the
Ministry of Education, the percentage of 18 to 24-year-olds in India enrolling in university has
shot up 63 percent in the past four years.

This is a dramatic change from the middle classes of post-independence India, for whom a
permanent government job was the pinnacle of slow but stable upward mobility. The opening
of India’'s economy in 1991 has resulted in private-sector career opportunities, both at home
and abroad—unimaginable a few decades ago. The rise of India’s middle class also heralds a
rise in consumption, especially in urban areas—including emerging middle-tier and smaller
cities. According to McKinsey, India will become the world’s fifth-largest consumer market by
2025. Rural or urban, middle-class Indians expect the best education, the latest products and,
increasingly, a place for India among the world’'s major powers.

SubQuestion No : 7
Q.7 Owing to the liberal economy of the 1990s, what kind of shift took place in terms of career?

Ans X 1. People preferred self-employment
\, 2. People could get into the private sector
X 3. People could get into the public sector

K 4. People went in for regular government jobs

Question ID : 3786061693
Status : Answered
Chosen Option : 2




Q.8
Ans

Comprehension:
Read the passage carefully and answer the given questions.

India’s middle class is not a homogenous group. The McKinsey Global Institute, which defines
India’s middle class as households with real annual disposable incomes between 200,000 and
1 million rupees, estimates the ranks of middle class will soar from 50 million in 2005 to over
250 million in 2015; and by 2025, it will more than double to 583 million (41percent of the
population). Wherever they are, the members of India’s new middle class share dreams of
upward mobility. They draw their inspiration from the success of professionals such as
software engineers and entrepreneurs who, through their pursuit of education and hard work,
emerged from small towns and simple homes to become billionaires. According to the
Ministry of Education, the percentage of 18 to 24-year-olds in India enrolling in university has
shot up 63 percent in the past four years.

This is a dramatic change from the middle classes of post-independence India, for whom a
permanent government job was the pinnacle of slow but stable upward mobility. The opening
of India’'s economy in 1991 has resulted in private-sector career opportunities, both at home
and abroad—unimaginable a few decades ago. The rise of India’s middle class also heralds a
rise in consumption, especially in urban areas—including emerging middle-tier and smaller
cities. According to McKinsey, India will become the world’s fifth-largest consumer market by
2025. Rural or urban, middle-class Indians expect the best education, the latest products and,
increasingly, a place for India among the world’s major powers.

SubQuestion No : 8
Which of the following is NOT interpreted by McKinsey in this article?

x 1. More youth enrolling in college
\f 2. Improved health services
x 3. Country's emergence as a huge consumer market

25 4. Soaring ranks of middle class

Question ID : 3786061695

Status : Answered

Chosen Option : 2




Q.9
Ans

Comprehension:
Read the passage carefully and answer the given questions.

India’s middle class is not a homogenous group. The McKinsey Global Institute, which defines
India’s middle class as households with real annual disposable incomes between 200,000 and
1 million rupees, estimates the ranks of middle class will soar from 50 million in 2005 to over
250 million in 2015; and by 2025, it will more than double to 583 million (41percent of the
population). Wherever they are, the members of India’s new middle class share dreams of
upward mobility. They draw their inspiration from the success of professionals such as
software engineers and entrepreneurs who, through their pursuit of education and hard work,
emerged from small towns and simple homes to become billionaires. According to the
Ministry of Education, the percentage of 18 to 24-year-olds in India enrolling in university has
shot up 63 percent in the past four years.

This is a dramatic change from the middle classes of post-independence India, for whom a
permanent government job was the pinnacle of slow but stable upward mobility. The opening
of India’'s economy in 1991 has resulted in private-sector career opportunities, both at home
and abroad—unimaginable a few decades ago. The rise of India’s middle class also heralds a
rise in consumption, especially in urban areas—including emerging middle-tier and smaller
cities. According to McKinsey, India will become the world’s fifth-largest consumer market by
2025. Rural or urban, middle-class Indians expect the best education, the latest products and,
increasingly, a place for India among the world’s major powers.

SubQuestion No : 9
Which of the following is NOT predicted by 2025 in this article?

25 1. Middle class will move upward
\, 2. India will rise from fifty million to two-fifty million
X 3. Expected to be among the world's major powers

K 4. Middle class will more than double

Question ID : 3786061694

Status : Answered

Chosen Option: 3




Comprehension:
Read the passage carefully and answer the given questions.

India’s middle class is not a homogenous group. The McKinsey Global Institute, which defines
India’s middle class as households with real annual disposable incomes between 200,000 and
1 million rupees, estimates the ranks of middle class will soar from 50 million in 2005 to over
250 million in 2015; and by 2025, it will more than double to 583 million (41percent of the
population). Wherever they are, the members of India’s new middle class share dreams of
upward mobility. They draw their inspiration from the success of professionals such as
software engineers and entrepreneurs who, through their pursuit of education and hard work,
emerged from small towns and simple homes to become billionaires. According to the
Ministry of Education, the percentage of 18 to 24-year-olds in India enrolling in university has
shot up 63 percent in the past four years.

This is a dramatic change from the middle classes of post-independence India, for whom a
permanent government job was the pinnacle of slow but stable upward mobility. The opening
of India’'s economy in 1991 has resulted in private-sector career opportunities, both at home
and abroad—unimaginable a few decades ago. The rise of India’s middle class also heralds a
rise in consumption, especially in urban areas—including emerging middle-tier and smaller
cities. According to McKinsey, India will become the world’s fifth-largest consumer market by
2025. Rural or urban, middle-class Indians expect the best education, the latest products and,
increasingly, a place for India among the world’s major powers.

SubQuestion No : 10
Q.10 In the sentence "... the pinnacle of slow but stable upward mobility", ‘pinnacle’ indicates:

Ans ( 1. high point

K 2. penury

25 3. destitution

K 4. stagnation

Question ID : 3786061692
Status : Answered
Chosen Option : 1

Q.1 Given below are two statements, followed by two conclusions. Assume the given
statements to be true even if they vary with commonly known facts. Based on the
information, decide which conclusion(s) logically follow(s) the given statements.

Statements:

I. Some balls are rods.

Il. Some non-rods are books.
Conclusions:

|. Some balls are books.
Il. Some balls are not books.

Ans X" 1.0nly Conclusion Il follows
K 2. Both conclusions | and Il follow
( 3. Either conclusion | or Il follows

K 4. Only Conclusion | follows

Question ID : 3786061697
Status : Answered
Chosen Option: 3




Q.2 Inarow of 78 students. Sunita is 40th from the left side of the row and Sohail is 41st from
the right side of the row. What is the number of persons between them?

Ans  of 11
X 2.2
X 3.4
X 43

Question ID : 3786061701
Status : Answered
Chosen Option : 1

Q.3 Given below are two statements, followed by two conclusions. Assume the given
statements to be true even if they vary with commonly known facts. Based on the
information, decide which conclusion(s) logically follow(s) the given statements.

Statements:
I: All dogs are birds.
1I: All bears are birds.

Conclusions:
I: Some dogs are bears.
1I: Some bears are dogs.

Ans x 1. Either conclusion | or Il follows
x 2. Only conclusion | follows
x 3. Both conclusions | and Il follow

« 4. Neither conclusion | nor Il follows

Question ID : 3786061696
Status : Answered
Chosen Option : 4

Q.4 Select the option that will complete the below series.

u2c, 07D, 123E, E72F, A220G,?
Ans X" 1 U600H

X 2.U665J
/X 3.B665I
W 4 U66sH

Question ID : 3786061704
Status : Answered
Chosen Option : 4




Q.5 Read the statement, followed by two conclusions. Read them carefully and select the
correct option.

Statement: If you are depressed, you are living in the past.
Conclusions:

I: If you stop living in the past, you will be at peace.
11: Depression is more than just sadness.

Ans  off 1.0nly conclusion | follows
X 2. Only conclusion Il follows
x 3. Both the conclusions follow

X 4. Either conclusion | or Il follows

Question ID : 3786061703
Status : Answered
Chosen Option : 1

Q.6 Sunita ran 1000 m from her house towards West. She then took a left turn and ran 2500 m
and reached her school. From there, she took a left turn and walked 1000 m. How far from
her house and which direction is she facing now?

Ans  of 12500 m; East
25 2.2500 m; West
/< 3.1000 m; South

75 4.1000 m; North

Question ID : 3786061699
Status : Answered
Chosen Option : 3

Q.7 Identify the figure that will complete the following pattern.

W

Ans

7 S ]

Question ID : 3786061705
Status : Answered
Chosen Option : 4




Q.8

Ans

In a coding language, the code for ‘DUST' is ‘@ % A $’, the code for ‘TOLD’ is ‘# @ $ B’ and
the code for ‘SAR’ is ‘% * F'. What will be the code for ‘DART’ in the same language?

K 1L%@*$
v 2F@$
X 3@*$B
X 4BF#%

Question ID : 3786061702
Status : Answered
Chosen Option : 2

Q.9

Ans

Consider the symbols ¥, $, #, @, %' and the various meanings associated with them as
follows:

'A * B'means ' A is not greater than B'

'A $ B' means 'A is neither greater than nor smaller than B’
'A # B' means ' A is neither smaller than nor equal to B'

'A @ B' means ‘A is not smaller than B'

'A % B' means ' A is neither greater than nor equal to B’

Consider the following statements and conclusions and decide which conclusion(s) is/are
true.

Statements:P@ Q;Q#R;R% S
Conclusions:

I.S#Q
I.LR%Q

x 1. None of the conclusions is true.
« 2. Only conclusion Il is true.
X 3. Both conclusions | and Il are true.

x 4. Only conclusion | is true.

Question ID : 3786061698
Status : Answered
Chosen Option : 2

Q.10

Ans

John moves a distance of 8 km towards west. Then he moves towards south-east and
covers a distance of 6 km. From there, he moves towards east and travels a distance of 15
km. Finally, he moves towards north-west and covers 6 km. How far is he now from the
starting point?

X1.8km
25 2.9km
W 3.7km
X 4.6km

Question ID : 3786061700
Status : Answered
Chosen Option: 3

Section : Quantitative Aptitude




Q.1 24 men can complete a task in 16 days. 32 women can complete the same task in 24 days. 8 men and 8 women start
working together and work for 8 days. How many more men are required to complete the remaining work in 4 days?

Ans XT 36
X2 42
X 3 56
v 4 60

Question ID : 3786061707
Status : Answered
Chosen Option : 4

Q.2 The ratio of the speeds of an auto, a car and a bus is 4 : 9 : 8. The average speed of the auto, the car and the bus together
is 98 kmv'h. The average speed of the auto and the bus together is:

Ans  of 1. 84 km/h
A 2 48 km'h
/3. 64 km/h
X 4 78 km'h

Question ID : 3786061711
Status : Answered
Chosen Option : 1

Q.3  Asum of money was put at simple interest at a certain rate for 3 years. Had it been at a 2% higher rate, it would have
fetched T 480 more. Find the sum.

Ans of 1. T 8,000
X 2 T7,000
X 3. 6,000
X 4 T 5,000

Question ID : 3786061714
Status : Answered
Chosen Option : 1

Q.4 Ahusband and his wife appears in an interview for two vacancies in the same clerical post. The probability of husband's
selection is 2 and the probability of wife's selection is 41 . The probability that only one of them is selected is:

Ans XT E

20

v 2

20

% 3.

10

X4.i

20

Question ID : 3786061713
Status : Answered
Chosen Option : 2




Q.5 The average of 8 numbers is 5.35. The average of the first three of them is 4.15, whereas the average of the next three is

4.25. The average of the remaining two numbers is:

Ans  of 188
X282
X3 86
X484

Question ID : 3786061710
Status : Answered
Chosen Option: 1

Q-6 Two persons., Abhiram and Abhishek, invested ¥ 24,000 and ¥ 28.000. respectively. in a business. Abhiram, being an active

partner, gets T 425 extra every month for running the business. In 3 years, if Abhiram receives a total of ¥ 21,000, then what is

the profit earned by Abhishek in 3 years?

Ans  of 1. 6,650
X 2 ¥6,850
X 3 T6,250
X 4 6,525

Question ID : 3786061712
Status : Answered
Chosen Option : 1

Q.7  Acar starts with a speed of 90 kmv'h, with its speed increasing every 2 hours by 10 kivh. In how many hours will it

cover 479 km?

Ans  of 1. 4 hours 54 minutes
# 2. 4 hours 34 minutes
/< 3. 4 hours 42 minutes
& 4. 4 hours 12 minutes

Question ID : 3786061708
Status : Answered
Chosen Option : 1

Q.8 What is the difference between the compound interests on ¥ 7,500 for 1 year at a rate of 6% per annum compounded

yearly and half-yearly?

Ans - X 1. T5.75
X2 525
X3 T6.00
v 4 %675

Question ID : 3786061715
Status : Answered
Chosen Option : 4




Q.9 Inan annual examination of 10th standard, 38% of the students failed in Mathematics and 26% of the students failed in
Physics. If 25% of the students failed in both the subjects, then the percentage of students who passed in both the
subjects is:

Ans  of 1. 61%
X 2 65%
X 3 49%
X 4 54%

Question ID : 3786061709
Status : Answered
Chosen Option: 1

Q.10 An amount of T 27,300 was divided between three persons, A, B and C, such that if their shares are reduced by
T 50,% 100 and T 150 respectively, then the new shares are in the ratio of 4: 5: 6.
B's original share is:

Ans X 1. 7,000
v 2 79,100
X 3 T8,000
X 4 T8,500

Question ID : 3786061706
Status : Not Answered
Chosen Option : --

Section : General Knowledge

Q.1 Which of the following is the highest plateau of the world?
Ans X" 1 The East African Plateau

“ 2. The Tibetan Plateau
X 3. The Western Plateau of Australia

x 4. The Deccan Plateau

Question ID : 3786061719
Status : Answered
Chosen Option : 2

Q.2 Which one out of the following states has a coastline?
Ans x 1. Telangana

x 2. Chhattisgarh

x 3. Tripura

( 4. Andhra Pradesh

Question ID : 3786061716
Status : Answered
Chosen Option : 4




Q.3 Prime Minister Shri Narendra Modi launched Skill India Mission in
train over 40 crore people in India in different skills by 2022.

Ans X" 1.2016
X 2.2017
X 3.2014
W 42015

that aimed to

Question ID : 3786061720
Status : Answered
Chosen Option : 4

Q.4 Which of the following countries made the world’s first floating nuclear reactor named
Akademik Lomonosov?

Ans X 1. France

x 2. Germany
J 3. Russia
X 4.UsA

Question ID : 3786061722
Status : Answered
Chosen Option: 3

Q.5 On 1 January 2020, ISRO Chief K Sivan announced to establish India's second spaceport for
launching small satellites in the state of:

Ans  off 1 Tamil Nadu

X 2. 0disha

x 3. Andhra Pradesh

x 4. Kerala

Question ID : 3786061725
Status : Answered
Chosen Option : 1

Q.6 Which of the following rivers flows through the Kullu valley?

Ans X 1. Ravi
/< 2. Sutlej

x 3. Chenab

( 4. Beas

Question ID : 3786061717
Status : Answered
Chosen Option: 4




Q.7 Which country out of the following occupied first rank in Human Development Index, 2019?
Ans X" 1. Switzerland

( 2. Norway
X 3. Ireland
x 4. Australia

Question ID : 3786061721
Status : Answered
Chosen Option : 2

Q.8 Who among the following was sworn in as the Chief Minister of Jharkhand in December
2019?

Ans X" 1 Raman Kumar
( 2. Hemant Soren

/X 3. AK Roy
x 4. Raghubar Das

Question ID : 3786061723
Status : Answered
Chosen Option : 2

Q.9 Which of the following missions is dedicated to study the solar corona and is being touted
as India’s first solar mission?

Ans  of 1 Aditya L1

/< 2 Gisat1
X 3.RISAT

x 4. Microsat

Question ID : 3786061724
Status : Answered
Chosen Option: 1

Q.10 Which of the following is the highest peak of South American Continent?
Ans J 1. Aconcagua

x 2. Huayna Potosi
X 3. Huascaran
x 4. Ojos del Salado

Question ID : 3786061718
Status : Answered
Chosen Option: 1

Section : Language Proficiency




Q.1
Ans

Comprehension:

YEIeT SART dISIYdes e SfoT feciean uem ITr am:

ehT GA&TUTI ‘HeATaT siifegen fehTs, STATRIET0T SATTOT MaT-Ud aaRy A idie a=ar Mt J6R sirer
3Ted. A Gearar Farfior faera Sy aTafreror ar TEHT 7e<a Ui g TS 31 et
IR STTciter o1eft STOeT S8, a1 FeTuT BTN, SAMRTCE 90 Tah UelT SITEd Hetrd hioTeT =T
RIUTT AeifOIeh SR AR HTetel SI¥d. AERIET UTd quiaTeiiel Jof AIGAT AT SATOETSaTed
ST, SRATCA SR 3Teh IASTTAT Jo-d ATaTecid AERIERI T TR TiTelt 3118, FaR I=ara T=g i1
STETY BT THIE MBI T8, WU HERIETd SadT HIoaT FHTONd SR Heot SFvraregiAed ad
ST aR SHTUTATSATET UTaeEd SATOT AT A1 AMBTHIARIERS def U7 STid TRt 3118,

GO HelT<aT GATIHTO! SfGeh ST a1e BIamHT fadd. TR AT T &rdT gurau! fae R 7 glara
et SfuaTRen M AT THedrd. it QMesT-qd TRt afed Sietel! 79 SfoT U= i=r urT deal
TEal. RIS FETIR, S8t auidl gof 3o Ufgeiid TRl el gd1d. TR SRR U eTd fRrdt
TS TR, MBI EHI e [H Tcdeh ST NS ed. HERTEI HelidT QMo FaiT Jtsar
THTOTE ARG d=g+1 BT STesd SIe avl IaTd 331 ufgefid 9.3 Tadh et ura auidt smea Srfor war
gufet 18 ach Goi 391 gl @ faeRiAed fRIehd STed. ITam URUTH T JeareaT fRAIRudTeR gidT for ot
ol G& ST S=aTaaT S9ATHTd AN USTd. SIMHTOT STIOT JeTieaT JarssTo! Jersd erdieedred
(arerT S1IfoY 1foYe) aTe gamT e, TRy o guke Qeeruid raTder SiRd get AW gSdTT feddra.
TS oI ST Hel ST9ATET A1 TSelel! STeaddrd.

AET e FRISToT=T UTa FSTed vl 8 Sicdid Hg<ard aTdl 318, MMehid STurare! eaedd urafih
JeT e SR SO TI9uTens SHfAeh SMTe- S SFIE! algcwEie o8, TR a1 Uichad ‘STfRISv'ahs,
fAtwa: Hetiean difgen faemaTs AT geiel ST fiad 318, ATTST STeIY SR el v aTehl 3Te.
SHTUTETE! SRRt ATaTatd a1 o HfASToT Sfoy i fafia Anfeef™ ot smasae ome.
EreriieT arafde Som ‘-tged’ s=ara fSaToft ve uafa rguE sifederd smeq; uig i qoresn
STIOT 7 TRISUTRY Th AT STl SN STTegTTIcH SfTad. JEa TTHIUT SATfOT 88t WTTide a=ara peaaed
qreteni=t el T UehR el amTTd, JeAtT AHehT et Fad ardl, arage i g ff Arfedt Tua. adw
TS ISTRENA STHTT ST, 11T URTEIT Hetiean fRA&Tond UTetes SMfoY SITSETSI=aT e
FEHNT A9 qeardt ang <ff are, faenr ST AmeT-gd Jart gid ATel. g Geri=T 9é fRepvard
Srsuft IaTa SAOY <ff e ST AN USdTd.

SubQuestion No : 1
g1, &, 2, a, i, @ @ Slurea uehRe S ega?

20 1. R gdam
o 2. asie g
X 3. yaefes gdam
25 4 e gl

Question ID : 3786061863
Status : Answered
Chosen Option : 2




Q.2
Ans

Comprehension:

YEIeT SART dIGsiYdes e SfoT feciean uem I am:

TehT GA&TUTI ‘HeATaT siifegen fehTs, STATRIETOT SATTOT AM&BT-Ud aaRy A idie a=ar M J6R Srer
3Ted. AT Gearar Farfior faera S STafreror ar TEHT 7e<a Ui g TSt 31 et
IR STTciter S1Rft STOeT S8, a1 FeTuT STEATTIHNR, SAMRTCE 90 Tah UelT SIEd Hetrd hioTedT =T
RIUTT AeifOIeh SR AR HTctel SI¥d. AERIET UTd quiaTeiiel Jof AISAT AT SATOETSaTed
ST, SR SR 3Teh ISTTAT Jo-d ATaTecid AgRIERI T TR FiTeft 3118, 3R I=ama T=gi=1
SNy g1 et ST S8, FUAdT HERIETd SaakiT HISdT UHTUN SR ot Siurareaiaed ad
St aR SHTUTATSATET UTaeEd SATOT AT A1 AMBTHIARIEhS def U7 STid TRt 3118,

GO i< qATIHTO! SfGeh ST a1e BIaHT fadd. TR AT Her™d &rdT gurau! fae R 7 glara
et SfuaTRen M AT FHedTd. it AMeT-yd TRt afed Sered! A9 SfoY U= =T uran dea
TEal. RIS FETIHR, S8t auidl gof 3a<T Ufgeiid TRl el gd1d. TR SRR U eTd fRrdt
AT TR, MBI EHI e [IH Tcdeh ST NS ed. HERTEI JelidT e FaiT Jsar
THTOTE A1 d=g+1 BT STesd SIEe avi IATd 331 ufgefid 9.3 Taeh Het Ura auidt smed Srfor war
gufet 18 ach Ioi 391 GOl @ faeRiAed fRIehd STed. ITaT URUTH T JeareaT fRAIRuaTeR gidT T ot
ol G& ST S=aTaeT AT AN USTd. SIMHTO STIO0T HeTieaT JarssTo! Jersd erdiiedid
(amerT 3oy 7fod) aTe gamT e, TRy 3o guse Qeeruid raTder SId Het AN USdmT feedTa.
TS oI ST Hel ST9ATET A1 TSelel! STeaddrd.

TET e FRISToT=T UTa FSTed ehevl 8 Sicdid Hg<ard a1d 318, MMEehid SUrare! eaedd urafih
&7 e SR SO TIvuTens SHfAdh STe- S SFIE! alacwEie 318, IR a1 Uishad ‘STfRISv'ahs,
fasiwa: gerrean sifgen fAenmaTens AT geler SiamT feHd 3118, ATHTS! STEITY a3 et chevl JTeh! 3Tg.
SHTUTETE! SRR ATaTatd a1 o HfA&ToT Sfoy i fafia Anfeefa ot smasae ome.
EreriRieT arafde Som ‘-tged’ s=ara fSaToft ve uafa reuE sifedand smed; uig i qoresn
SO 7 IRISUIRT Wl AT STl ST SATegTHIcHeR SHTed. TEHT UTHIOT SHATT0T I T S=aTe gaimed
qreteni=t el T UehR el amTTd, JeAtT AHehT et Fad ardl, arage i g o Arfedt T9a. adg
TS ISTRENA STHTT ST, 1R URTEIT et fRA&Tond UTetes SMfoY SITSIETSI=aT e
FEHIT T qerd! a1 off a1e, faersr 3oy 21mesT-gd Jart gid ATel. &Td Jali1 4é fRervara
Srsoft IaTa ST <ff My ST AN USdTd.

SubQuestion No : 2
et o are, AMeIgd aaRt 7 glvamnr Sft ot Fiftaeft snda, @i ghran gafa e

25 1. UTeTehieh SRIOTRT AT ST

25 2. gt e st wed e Araeee S

X 3. gerish o anTa araeer S

\_f' 4. ITeTeh SATTOT SATSISTSIeAT SHGRITET SIIUTRT T ST

Question ID : 3786061861

Status : Answered

Chosen Option: 4




Q.3
Ans

Comprehension:

YT SART dIsiYdes e SfoT feciean uem I am:

ehT GA&TUTI ‘HeATaT siifegen fehTs, STATRIETOT SATTOT AMaBT-Ud aaRy arsieHidie a=ara MeT J6R sirer
3Ted. AT Gearar Farfior faera oy STafreror ar TEHT 7e<a Ui g TS 31 et
IR STTciter S1Rft STOetT S8, a1 FeTuT STEATTHNR, ST 90 Tah UelT SITEd Hetrd hioTeT =1
RIUTT AeIOIeh R AR HTctel SI¥Td. AERIET UTd aui@rciiel Jof AIGAT AT SHTUETSaded
ST, SR SR 31eh ISATAT Jo-d ATaTecid AERIERI T TR TiTelt 3178, 3aR I=ara T=g i1
STENTY BT THIE MBI Mg, WU HERIETd SadT HIoaT FHTONd SR Hot SFvraregiaed ad
ST aR SHTUTATSATET UTaeEd SATOT AT A1 AMBTHIARIEhS def U7 STid TRt 31Tg.

GO HeAT<aT GATIHHTO! Sfegeh ST a16 gIaHT fadd. TR AT Herad &rdT gurau! fae R 7 giara
et ofuaTRen M T FHedTd. it QMesT-qd TRt afed Setel! 79 SfoT U= i=r urT dea
TEal. RIS FIETIR, S8t auidl gof 3o Ufgeiid TRl el gd1d. TR SRR U eTd fRrdt
TS TR, MBI EHIH e [H Ucdeh ST SIS Ted. HERTEI JelidT QM FaT Jsar
THTOTE A1 d=g+1 BT STesd SIe avi IaTd 331 ufgefid 9.3 Taeh el Ura auidt smad Srfor war
gufet 18 ach Ioi 391 GOl @ faeRiAed fRIehd STed. ITaT URUTH T JeareaT fRAIRudTeR gidT ST ot
ol G& ST S=ATaaT S9ATHTd AN USTd. SIMHTO ST HeTieaT JarssTo! Jersd erdiaedi
(amerT SrfoY 1fod) aTe giamT . TRy Sa guse Qeeruid rTder SiRd got AW USdTT e dra.
TS eI STAMAED Hel ST9ATET H1 TSaiel! e,

TG Herre FRISToT=T UTa FSTed ehevl 8t Sicdid Hg<ard a1dl 318, MMEehid Surare! eaedd urafi
JeT e SR SO TI9UTens SHfAdh STe- S SFIE! AlgcwEie 318, TR a1 Uichad ‘STfRISv'ahs,
fatwra: Hetiean difgen famaTRs AT geiel SiarT fiad 31Te. ATTST STeIY SR el vl aTehl 3o,
SHTUTETE! SRR ATaTatd a1 o HfA&ToT Sfoy i e Anfeef™ ot smasae ome.
EreriRieT arafde Som ‘-tged’ s=ara fSaToft ve uafa rguE sifederd smed; uig i qoresn
STIOT 7 TRISUTRY Tht AT TSl STENT STTegTHTIcH SfTad. JEa TTHIOT SATfOT 88t JTTide a=ara peaaed
Treteni=t el T UeRR el anTTd, JeAtT AHehT et Fad axrdl, arage i g ff Arfedt Tua. ade
TS ISTRENA STHTT ST, 11T URIEIT Hetiean fRA&Tond UTetes 3oy SITSIETSI=aT e
FEHNT AT qeArdt ang <ff are, faenr o Amel-gd Jar §id ATel. g Geri=T 9é fRepvard
Sr&oft IaTa ST <ff e ST AN USdTd.

SubQuestion No : 3
gdierdh Ivararft /e hivra?

o 1.
X 2.5
X 3. weA
5 4

Question ID : 3786061860
Status : Answered
Chosen Option: 1




Q.4
Ans

Comprehension:

YEIdT SART dIsiYdes e SfoT feciean uem I am:

TehT TA&TUTIH ‘HeATa siifegen fehTs, STATRIET0T SATTOT MaT-Ud aaRy’ ardieHidie a=ara Met J6R Sirear
3Ted. A Gearar Farfior faera oy STafreror 3t TEHT 7e<a Ui g TSt 31 et
IR STTciter o1eft STOet S8, a1 FeTuT BTN, SAMRTCE 90 Tah UelT SITEd Hetrd hioTeT =T
RIUTT AeIOIeh R AR HTetel S, AERIET UTd aui@rciiel Jof AIGAT AT SHToaTSaaed
ST, SR SR 3Teh ISTTAT Jo-d ATaTedid AgRIERI T TR FiTelt 3178, 3aR I=ara I=g i1
STENfY g1 et ST S8, FUAd HERIET SaaRlT HISdT UHTUNT SR ot Siurareaiaed ad
ST aR SHTUTATSATET UTaIeEd SATOT AT A1 AMBTHIARIEhS Tef U7 STid TRt 31Tg.

GO HeA < qATIHTO! Sfegeh ST a1e gIaHT fadd. TR AT Her™d &rdT gurau! fae R 7 giara
et SfuaTRen M T FHedrd. it QMesT-qd TRt afed Setel! A9 SfoY U= =T urT dea
TEal. RIS FIETIR, 98T auidl gof 3o Ufgeiid TRl el gd1d. TR SRR U eTd fRrdt
TS TR, MBI EHIH e [-H Ucdeh ST NS ed. HERTEI HelidT QM FaiT Jsar
THTOTE A1 d=g+1 BT STessd SIEe avi IaTd 331 ufgefid 9.3 Taeh el Ura auidt smed Srfor war
gufet 18 each Goi 391 gl @ faeRiAed fRIehd STed. ITaT URUTH T JeareaT {RARudTeR gidT ST ot
ol G& ST S=aTaeT AT AN TS, SIMHTOT SO0 HeTieaT JarssTo! Hesd erdiedie
(amerT 3oy 1foe) aTe gamT i, TRy Sa guse Qeeruid raTder Sd Het AN gSdTT feedTa.
TS i STAMAED Hel ST9ATET A1 TSelel! e,

TG e FRISTOT=T UTa ASTed ehevl 8 Sicdid Hg<aTd aTdl 318, MMEehid SUrare! eaedd urafih
JeT e SR SO TIouTens SHfAeh STe- S SFIE! g 3118, TR a1 Uishad ‘STfRISv'ahs,
fatwa: Hetiean difgen faemaTs AT geiel SarT fiad 31Te. ATHTS! STeIY SR il v aTehl 3Te.
STUTETE! ShrichcTe ATaTatd a1 o HfASToT Sfoy i fafia Anfeef™ ot smasas ome.
ErerieT arafde Som ‘-tged’ s=ara fSaToft ve uafa reuE sifederd smed; uig i qoren
3O 7 TRISUIRT Wi AT STl ST SATegTHIcHeh SHTad. TEHT UTHIOT SHATT0T I T S=aTe gaimed
qreteni=t el T UehR el amTTd, JeAtT AHehT et Fad ardl, arage i g o Arfedt Tua. ade
TS ISTRENA STHTT ST, 11T URTEIT Hetiean fRA&Tond UTetes SMfoY SITSIETSI=aT e
FEHIT T qerd! a1 off a1e, faemr 3oy 2MmesT-gd Jart gid ATel. e Jali1 4é fRemuara
Sr&oft IaTa ST <ff My ST AN USdTd.

SubQuestion No : 4
e Sifedes fARrETETS! STt Feft ol RSt oirg ¥ FEehTer ared?

25 1. @t urdsbieR el go o,
7 2. T v S T TR gefer e,
o 3. siTuTETE) srfeate g THTReE aRo.
25 4. TR fram R w0,

Question ID : 3786061859

Status : Answered

Chosen Option: 4




Q.5
Ans

Comprehension:

YT SART dIsiYdes e SfoT feciean uem ITr am:

ehT GA&TUTI ‘HeATaT siifegen fehTs, STATRIET0T SATTOT M&BT-Ud aaRy A idie a=ara MeT J6R srer
3Ted. AT Gearar Farfior faera oy STafreror 3T TEHT 7e<a Ui g TSt 31 et
IR STTciter S1eft STUet S8, a1 FeTuT STEATTIHNR, SAMRTCE 90 Tah UelT SIEd Hetrd hioTeT =T
RIUTT AeifOIeh SR AR HTetel SI¥d. AERIET UTd auiaTeiiel Jof AIGAT AT SHTUETSaTed
ST, SRATCA SR 3Teh IASTTAT Jo-d ATaTecid AgRIERI T TR FiTelt 3178, 3R I=ara T=g i1
STENfY g1 et ST S8, FUAdT HERIETd SaakIT HISdT VAT SR ot Siurareaiaed ad
St aR SHTUTATSATET UTaeEd SATOT AT A1 MBTHIARIEhS def 0T STid TRt 3178,

GO HeAT<aT GATIHTO! Sfgeh ST a1e BIaHT fadd. TR AT Herad &rdT gurau! fae R 7 glara
et SffuaTRen M T FHedrd. it QMesT-qd TRt afed Sierel! 79 SfoT U= =T urT deal
TEal. RIS FIETIHR, S8t auidl gof 3o Ufgeiid TRl el gd1d. TR SRR U elTd fRrdt
TS TR, MBI EHI e [H Ucdeh ST NS Ted. HERTEI HelidT QMo FaiT Jtsar
THTOTE A1 d=g+1 BT STesd SIe avl IaTd 331 ufgefid 9.3 Taeh et Ut auidt smea Smfor war
gufet 18 ach Ioi 391 GOl @ faeRiAed fRIehd STed. ITaT URuTH T JeareaT {RAARuaTeR gidT T ot
ol G& ST S=aTaaT S9ATHTd AN USTd. SIMHTOT STIOT HeTieaT JarssTo! Jersd erdiaedrd
(arerT SmTfoY 1foYe) aTe giamT e, TRy A guse Qeeruid rTder SIRd Hot AN gSdmT feedra.
TS oI ST Hel ST9ATET H1 TSelel! e,

TG Herre FRISToT=T UTa FSied ehevl 8 Sicdid Hg<ard a1d 318, MEehid SUrare! eaedd urafih
JeT e SR SO TIvuTens SHfAdh STe- S SFIE! alaewEie S8, TR a1 Uishad ‘STfRISv'ahs,
fasiwa: gerrean sifgen fAenmaTens AT geler SiamT feHd 31Tg. ATHTS! STEITY &< et cheul JTehl 3Tg.
SHTUTETE! SRRl ATaTaid a1 o HfASToT Sfoy i fafia Anfeef™ ot smasae ome.
ErerieT arafde Som ‘-tged’ s=ara fSaToft ve uafa reuE sifedand smed; uig i qoren
30T 7 TRISUIRT Wl AT Tl STEfY SATegTHTcHeh SHTad. TEHT UTHIOT SHATTOT I AT S=aTe gaimed
qreteni=t el T UehR el anTTd, JeAtT AHehT et Fad ardl, arage i g o Arfedt Tua. ade
TS ISTRENA STHTT ST, 11T URIEIT Hetiean fRA&Tond UTetes S7foY SITSIETSI=aT e
FEHIT T qerd! a1 off a1e, faemsr 3oy 21mesT-gd Jart gid ATel. e Jali1 4é fRervara
Srsoft IaTa SAOr <ff My ST AN USdTd.

SubQuestion No : 5
25 1. sreremn
X 2. geir g e
X 3. rrengd aar
of 4. siroraresih o

Question ID : 3786061862

Status : Answered

Chosen Option: 3




Q.6
Ans

Comprehension:

YEIeT SART dIGsiYdes e SfoT feciean uem I am:

fega g

TS FEUTTEAT, “3HTE, I TSI 11? i @ a1 eerra!”

TG TR AT? 3R, Hehid STel! AT ST, AT IS AT TS Tad SR

T, STTOT AT TV, “ST TS, ek THT, THIR SIS Hoet AT St HUT ST, degT ol ATe! 7 faasiara
TG Faa? (IS MGG 3R MORURE A 1S ARTAId hl. T § d1g 377 qori=n feasft s
A ARIA?”

TR T, SIRITEAT AtheR STe3H Jeict TSI § Td TTY0T Uehd BIdl. T 9], STIOT TATel 8Teh
ARE FeIg Sdet. “SATST ST 319 &S A1hl, <l hiFTd 318 71! H GHTA! Jrelell Hehidiad e arg
T FAGAT. T T AT, TR Wd: WIATd A0 Sa=iATe! ol aredrd af [T |1 sheam T grar
UIfgerd SR, ATITS! hid ki fSi=Y «rTard a.”

U1 WU, “gF Sirsien, [ sms+ e Saed. fRam, geh @ler o1t Toggr s,

STTSTIETT TEUTT, “Teh T, ST Wex, Hthel?, MTe fehd T T 319 eiehdial ehus ahT STITOT aheft ararat?”
U SATHHTOT &I e STued SRIRTET STew e SUaTd! HTaachd! S, ATIIHTO! SATIAe!
3T et ATt WeReRT ST} ANTA. AT ST STERTAGT Sadt thie AR et ST
T et AT, SgTeTd STUUT ST <ETel-fudt?

STSTIET FEUT, “TFETel Ueeh] STTEGhIA STTaae, TUT JY STl ST STl STER 31Tg ahl? AT HTERTT
3T e TRerd, St U, ST TREd, aTesdTd aRed 3ieft ofe 0% fohar gav o ueref w@rat. gor
IEITd o Sleh STl d<) fearedTd AT STaedT RIRTAT ST I off Is0TaT feuamard!, derer uaref
STSTET FUMS, “aRISR, detor uard gierd et i fgarena SRR St Isorr fAafor s, fRam
fRaTeTdtel hRSAT EATHFRIRS MU T RSl TS SH1fOY BTt SR @A BT UG T giat. -
IR derora erd @reet i a1 SRSt Y&k TS ATgl.

ST AT T, § e garef T @I hivel FATITEA STasdie i i aTg fohal a1 dheed @rae
ATaSHA? 37 TS WOt ATARGT He<d e A1? FUH 7T JTdd I Ul 7 TG s, fhar
T ST Thie Hehid oA feasft @, oy JHT ST W=l ATeld, dR SATIedT TTeAT
A=, fAF-HESiAT ATdaTschiT:gT e amer oy Fgumad, ‘faestes e onfoy i€ Me e
TEUTSI 31U ehlg! dhiRUTH chiumeft Yi€r Gk SiTet 318, ehiat TREHST STet 3Tdel aR o faa=e o, 3y

SubQuestion No : 6
T Iar=ard foreft eahined darg emg?

X 1ER
X 2.7
X 3.um
W 2=

Question ID : 3786061866
Status : Answered
Chosen Option: 1




Q.7
Ans

Comprehension:

YT SART dIsiYdes e SfoT feciean uem I am:

fega g

TS FEUTTEAT, “3HTE, I TSI 11? 1 @ a1 eerra!”

TGS TR AT? IR, Hehid STl AT ST, AT TS ATg TS THad IR

TS, STTOT AT WU, “ST TS, Geh THT, THIR ST Hoet AT St HUT ST, degT ol ATe! 7 fisiara
TG Faa? (TS MGG 3R MORURE A 1S ARTAId hl. T § d1g 377 qori=n feasft s
A ATRIA?”

TR TR, SIRITEAT AtheR STe3H Jeict HTSIET § T V0T Uehd BId. i 9], STIOT TATel 8Teh
ARE FeTq Sdet. “SATSeT ST 3T & AIhl, <l T 3Tg 71! H GHTA! Jrelel Hehidiad e arg
T FAGAT. TS T AT, TR Wd: WIATd A0 SAIATE! ol aredrd o e A1 shea T grar
IR 31Te, ATHTS! T i forae ATTaTd 3.

U FgUTIeAT, “BF Srreitar, faet SiméH dies Sacta. fiar, ek @ier S11foT TegegT 3.

STSTEI FEUTIR, “eh T, STI0T Wex, HheR, 2ATe fohdl T 314 aleherd hus T S7IfoT sheft aro=at?”
U SATHHTOT 2T ReadTd STue SRIRTET STgwe e SUaTd! HTaachdl S, ATIHHTO! SATIAe!
T et ATt WeReRT ST} ANTA. FATATIHTO ST STERTAGT Sadt the AT TeT ITT
AT et AT, SgTeTd STUUT SR wETel-fudt?

STSTIET FEUT, “JFETel Ueeh] STTEGhIA STTaae, TUT JY STl ST ISTdT STER 31Tg ahl? AT HTERTT
ST foig TR, heldl U+g, STaeATd TRad, dTeTd a=ad Sikft ofg 97 fehar gav o ueref @rat. gor
IEITd o Sleh STl d<) fearedTd AT STaeaT [RIRTAT T I off Is0TaT fesuamrard!, derer uaref
STSTET FUMS, “aRISR, detor uard gierd et i fgarena SRR St Isordt fAafor st fRam
fRaTeTdtel hRSAT EATHRIRS MU T RSt TS 10T BTt SXhiT AT AT UG 1 giat. 1=
IR derera verd @reet &t a1 RS Y&k TS ATgl.

ST AT T, B G garef T @I hivel AT STTasdie i i ATg fohal a1 heed @rae
SASHTA? A S WU ATAGT HE<d ST d AA1? FUH HT AT IS =Tl AL ATg, e, fhar
T ST Thie Hehid oA feasft @rr=ar. oy JHT ST =T ATeId, R SATIedT TTeAT
A=, fAF-HESiAT ATdaTS TG e e oy Fgumad, ‘faestes e onfoy e Me e
TEUTST SMTUS chTgd! SR hiomeft Wieur el SiTei 31, chig! RTAST STel 31t a) o foge o, o

SubQuestion No : 7
‘T dRIeR @’ a1 ATl 31eRfAd 21eg shturear ki Iergor eg?

V1.5
X 2. =gl
25 3. e
X 4w

Question ID : 3786061869

Status : Answered

Chosen Option: 1




Q.8
Ans

Comprehension:

YEIdT SART dIsiYdes e SfoT feciean uem I am:

fega g

TS FEUTTEAT, “3HTE, I TSI 11? 1 @ a1 eerra!”

TG TR AT? 3R, Hehid STl AT ST, AT IS ATg TS THad MR

TS, STTOT AT TV, “ST TS, ek THT, THIR ST Hoet AT St HUT ST, degT ol ATe! 7 fiasiara
A1g Faa? (TS B MGG 3R MORARE A 1S ARTAId hl. T § d1g 377 qori=n feasft s
A ARIA?”

TR T, SIRITEAT AtheR ST3H Jeict TSI § T V0T Uk BId. AT 9], STIOT TATel 8Teh
ARE FeIg Sdet. “SATSeT ST 319 & AIhl, <l T 3Tg 71! H GHTA! Jrelel Hehidiad et arg
T FAGAT. TS T AT, TR Wd: WIATd A0 SAIATe! el aredrd ot e A1 shea T grar
UIfgerd S, ATITS! hid hid fSi=Y rTard a.”

U1 WgUTTet, “gF Sirsien, [ sms+ e Saed. fRem, geh @ler St Teggr o1mg.”

STTSTIETT TEUTT, “Teh T, ST Wex, HthelR, MTe fehdT T 319 tehdi ehus ahT STITOT aheft ararat?”
U SATHHTOT &= e SITue SRIRTET STgw e GUaTd! ATaachd! S, ATIHHTO! SATIAe!
T et ATt WeReRT ST} ANTA. AT ST STERIAGT Sadt the IARRT e ITT
AT et AT, SgTeTd STUUT SR <ETel-fudt?

STSTIET FEUT, “TFETel Ueeh] STTEGhIA STTaae, UUT JY STl ST ISTdT STER 31Tg ahl? AT ATERTT
ST i TRerd, it U, ST TREd, aTesdTd aRed 3ieft o 0% fohar gav o ueref @rat. gt
IEITd o Sleh STl <) faredTd AT STaedT RIRTAT ST I off Is0TaT fesuarard!, derer uaref
STSTET FUMS, “aRISR, defor uard gierd et i fgarena SRR St Isorar fAafor st fRam
fRaTeTdtel hRSAT EAHFRIRS MU T RS TS 10T BTt SR @A AT UG FT giat. 37
IR derora erd @reet i a1 ket Y[k TS ATg!.

ST AT T, B e garef T @I hivnel AT STasdie i i aTg fohal a1 heed @rae
ATASHA? 3 TS QWO ATAIGT He<d e A1? FUH FT JTdd I Ul 7 oATg s, fhar
T ST T Hehid oA feasft @, Sfor JHT ST W=l ATeId, R SATgedT TTeAT
A=, fAF-HESiAT ATdaTs TG faeTes e oy Fgumad, ‘faetes e onfoy e Me e
TEUTSI 31U chlg! dhiRUTH chiumeft Wigur Gk SiTet 319, ehig! IRTHST STet 3TdIel aR o faase o, 3y

SubQuestion No : 8
STSiaa™ I derer=a uarf a9d 7 @rdT 7rg fohdT aSuT e WIVATHRTE Ah ShIROT SHIvTA?

25 1. ReT GATHHTITG 8707 Y.

X 2. e e,

25 3. RaTesTa SRRTde IWTET ST Saot.
W 4. v e @ arer wewa SR,

Question ID : 3786061867
Status : Answered
Chosen Option: 4




Q.9
Ans

Comprehension:

YEIdT SART dIsIYdes ara SfoT feciean uem I am:

fega g

TS FEUTTEAT, “3HTE, I TSI 71? i @ a1 eerra!”

TG SATE™ AT? 3R, Hehid SATel! AT ST, AT IS ATg TS THad MR

TS, STTOT AT WU, “ST TS, ek THT, THIR SIS Hoet AT St HUT ST, degT ol AT 7 faasiara
TG Faa? [T B MGG 3R MORURE A 1S ARTAId hl. T § d1g 377 qori=n feasft s
A ATRIA?”

TR TR, SIHRITEAT AtheR STEH Jeict HTSIET § T V0T Uehd BId. AT 9], SO TATel 8Teh
AR FeIg Sdet. “SATST ST 3T & AIhl, <l T 3Tg 1! H GHTA! Jrelel Hehidiad et arg
T FAGAT. TS T AT, TR Wd: WIATd A0 SARIATE! ol aredrd o e d1g shea T grar
UIfgerd SR, ATITS! hid ki fSiaY «rTard a.”

U1 WU, “gF Sirsien, [ sms+ e S, fRam, geh @ler ol Taggr o1ms.”

STTSTIETHT TEUTT, “Teh I, ST Wex, Hthel?, MTe fehd T 319 el shus ahT STITOT aheft ararat?”
U SATHHTOT 2T e STued SRIRTET STge e SUaTd! ATaachd! S, ATIHHTO! SATIAe!
3T et ATt WeReRT ST} ANTA. AT ST STERIAGT Jadt thie AR TeT ST
AT et AT, SgTeTd STUUT SR <ETel-fudt?

STSTIET FEUT, “JFETel Ueeh] STTEGhIA STTaae, TUT JY STl STl ISTdT STER 31Tg ahl? AT HTERTT
3T i TRerd, St U, ST TREd, aTesdTd aRed 3ieft o 0% fohar gav o ueref @rat. gor
IEITd o Sleh STl d<) fearedTd AT STaedT [RIRTAT ST I off Is0TaT feuamard!, derer uaref
STSIET FUMS, “aRISR, detor= uard gierd et i farena SRR St Isorr fAafor st fRam
fRaTeTdtel hRSAT EATHFRIRS MU T RSl TS 10T BTt SR @A BT UG T giat. 7=
IR derera verd @reet i a1 SRSt Y&k TS ATgl.

ST AT T, B G gare T @I hivel AT STasdie Gl i aTg fohal a1 heed @rae
ATaSHA? 3 TS WOt ATAGT He<d e A1? FUH FT ITdd [ U 7 oATg s, fhar
T ST Thie Hehid oA feasft @, oy JHT ST W=l ATeId, R SATdedT TTeAT
A=, eI ATdaTschiTRgT faesTes amem oy Fgumad, ‘faetes e onfoy e Me e
TEUTSI 31U chlg! dhiRUTH chiumeft Yi€r Gk SiTet 318, ehia! IRTHST STet 3TdIel aR o faa=e o, 3y

SubQuestion No : 9
31TE T AT UTeheped 1 GeteTdeht shioTar ggref Argl?

r K
X2
f 3 @gaEy
5 4 @R

Question ID : 3786061868
Status : Answered
Chosen Option : 3




Comprehension:

YT SART dIsiYdes e SfoT feciean uem I am:

fega g

TS FEUTTET, “3HTE, I TSI 17? i @ a1 eerra!”

TG TR AT? IR, Hehid STl AT ST, AT IS AT TS Tad MR

7, STTOT AT WU, “ST TS, ek THT, THIR SIS Hoet AT St HUT ST, degT ol ATa! 7 fisiara
TG Faa? [T AGGT 3R MORURE A 1S ARTAId hl. T § d1g 377 qori=T feasft s
A ARIA?”

TR T, SIHRITEAT AtheR SR Jeict TSI § T V0T Uehd BIdl. AT IS, STIOT TATel 8Teh
ARE FeTq Sdet. “SATSeT ST 319 & AIhl, <l T 318 71! H GHTA! Jrelel Hehidiad et arg
T FAGAT. TS T AT, TR Wd: WIATd A0 SARIATe! ol aredrd ot e |1 shea T grar
UIfgerd SR, ATITS! hid ki fSi=Y «rTard a.”

U1 WgUTTett, “gF Sirsien, [ sms+ fies v, fRam, geh @ler it Teggr s,

JTTSTIETHT TEUTT, “Teh I, ST Wex, Hthel?, MTe fehdl T 319 i ehus ahT STITOT aheft ararat?”
U SATHHTOT &S e STued SRIRTET STgw e SUaTd! HTaachdT S, ATIIHTO! SATITe!
3T et ATt WeReRT ST} ANTA. AT ST STERTAGT dadt the IRt ST
AT et AT, SgTeTd STUUT SR <aTel-fudt?

STSTIET FEUTS, “JFETel Ueeh] STTSGhIA STTaae, TUT JY STl ST STl STER 31Tg ahl? AT HTERTT
3o i TRerd, S U, STaeTd TREd, aTesdTd aRed 3ieft o 0% fohar gav o ueref @rat, gor
IEITd o Sleh 3Tl d<) fearedTd AT STaedT [RIRTAT ST I off Is0TaT fesuamard!, derer ueref
STSTET FUMS, “aRISR, detor yard gierd et i fgarena SRR St Isorar fAafor st fRam
fRaTeTdtel ShRSAT EATHFRIRS MU T RSt TS 10T BTt SR @A BT UG T giat. -
IR derora erd @reet &l a1 SRSt Y[k TS ATgl.

ST AT T, B G garef TG @I hioel FATITEA STasdie i i aTg fohal a1 e @rae
ATASHIA? 37 TS QWO ATAGT He<d HTed A1? FUF T ITdd I Ul 7 oATg s, fhar
T ST Thie Hehid oA feasft @, oy JHT ST W=l ATeld, R SATIedT TTeAT
A=, fAF-HESiAT ATdaTs TG e amea oy Fgumad, ‘faetes & onfoy e Me e
TEUTSI 31U chig! ShiRUTH chiumeft YiSur Gk SiTet 318, ehia! IRTHST STet 3TdIel aR o faa=e o1, 3y

SubQuestion No : 10

Q.10 Tits @Tg @Ol IT AreRITeier STURIE 22T UepR H|iT.
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2 1. gdam
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25 3. Rkt
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Question ID : 3786061865
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Comprehension:

YEIdT SART dIsiYdes e SfoT feciean uem ITx am

3Tg. FATRA TR et ST STSTR @ i AT ST fohdl theh Id% TilehiHed STE@UTR SHTad
SI?, TR TS, T THRT SATOT STSTR GATURIAS S1Ted, Thidch thh ATUSITST T ATgid AegeaT fehar
NBEId he & ATEId Acgd fchaT T ST JAThS Gel&l hed Bidl. STTIdeh SRNY Hae-<aT STRIarT
m@wﬁmmﬁanﬂﬁzﬁsﬂﬁﬁqmﬁzﬁm ITTSTE! AT SITSTR, AT STTSTRU,
AMEIUARAS S, AT ATETed AT SRS TRGHEST 3Mgd 30T TTeee sield =T STaeare s
qred.

T el auia deThid TaATRT hid AT Y AT 37Tt 3118 I, AR TR, AIIIaRISH
iR THUATT §Rehl- THTSITT Gdd WRIGH deeld dTerell 3Tg SA1f0T Teh A UaRdSa FUH af
U EEUTR 19 31T, YT axiel STof THTSITAT el WA, AR SR § 3157 <A, o,
LTSI, TS TG, Ageh e giefral SMTOT H-cls AHREAT URUReR UGl -1 R FrTel 3 At ST,
A AR & AIRe fArRaRET smed Sfor ararsmnTaT mefia 3Pt S1TdT Fieni=T goges Ued
TTCAAT 3. ARG STSRITST Sifdeh AFERMEg amifsia (biopsychosocial) gedh RO sed &
e ot o, STl feeRgthaTuREA @ 1y, RidTfdeR, F=tenRies STeIR, acdufchiear gaeT,
Sg=TefiaT onfoy @nfAnfed faermmt demfAes gfeeton are.

AR TTRIAI= G1eRdT GHTSTAT dBRISTd TR0 STcdTaRdeh 3Tg, d<d JHTSIdIe srufaymg
STTOT TREAST @ gidier. Teg URQT UTgar AFfieh SIRTGEHTd i Sheun=aT doaiie IeedT TRerd el ga
Y SR SMTOT FEUT THISTTEAT T ehi=t AT 4 A3 a9 AifgAT TU 201 TROW 318, 19 ediaR
TR STaesur 200 TeTT TR AFuaRaS, AU T Schduul Sfeeeh Yahiadian Ma
A% AFETER’ g A SR SN ffed Aiem avermrgH gt ddelt og. ar HifgHar g
TETSTAT Ged U A& IRt grerar Rafor s ariie SieTR, ATkt SUAR, Jasl-
Rgeet arfewft sy mifgd) 2ot g, A ok fAfed fafay fawriar aesimha sarem, o,
AT SRS} aTIRuaTd 3d 3118, SHdehe dewiHTthd aWd Afed dighard) armdt sraraTed,
FufurgH a1 HifgaD i T IR UR U, Ma a9 AHEIUaR Hifedwn ufgedr TuaTd IERi-ar/
ARIGTAT AR STTSTR STIOT ITARIfASA A1t AT RS- IeardedT et STrae
Uighaactt. fersithfar Al sTeTRIaEs a¥a IRTAST STed 8t aTe dI&iTd SaT Hifedea o=t TwaTd
T HTSTRISES AN SSTAI chetl. HIfgHaT feRT ST ‘Hei=T TS ST 81 @Y fRIgrenand
HUGT ST, STTSTT UGS G STTSatSeli-T JATeTs! el de 3Tg SHfOr gt Fatd ST [I&Tehear
TORGT 3, § ALTTd BT JeATHefe HIaf-eh, aefu[ehiean a8 e STerTa=n gawifaudt
frereriatad aat svard e,

AT ATEIaRAS -] Saeiciel § UTdhel Aaehid ehiqehIeus 318, IT HIfgHHT U UTdes!
ATHUATHTST THTSTTET, AT S0 a1 f1fSd Ta gechian T 3101 JeThR TS 3178,

SubQuestion No : 11

Q.11 FeraRfeddia aaerte shivrear mé=h Res soEa?
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25 1. siufer
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Question ID : 3786061873
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Comprehension:

YT SART dIsiYdes e SfoT feciean uem ITr am:

3Tg. FATRA TR et ST STSTR @ i AT ST fohdl theh a1 TilehiHed STEHUTR SHTed
SI?, TR TS, T THRT SATOT STSTR GATURIAT S1Ted, Thidch thh ATUSITST T ATgld AegeaT fehar
NBEId he & ATRId Aegd fchaT T ST AThs Gei&l Thed idl. SITIdeh SRIY Hae—<aT STRIarT
m@wﬁmmﬁanﬂﬁzﬁsnﬁﬁqmﬁzﬁm ITTSTE! AT SITSTR, AT STTSTRU,
AMEIUARAS S, AT ATETed JATST SRS TRGHEST 3Mgd 30T TTeee sield =T STaeare faf=sdr
qred.

T gt aui deThid TaART hid AT 3T AT 37Tt 3118 I, AR TR, ATIIaRASH
giHThS THUATT §Rehl- THTSITAT Tdd WRIGH deeld dTerell 3iTg SA1fOT Teh A UaRdSa FUH &l
U JEEUTR 19 31T, YT axiel STof THTSIAT P! WA, AR SR § 3157 <A, o,
CTSITEIT, TS TG, Ageh e gielTal SMTOT H-cls AHREAT URUReR UGl -1 R BidTel 3 Al ST,
A IR & AIRe fArRaRET smed Sfor ararS T mefia 3Pt S1TdT Fieni=T goges Ued
TTAAT 3. ARG STSRMTST SAfdes AFERMGET amifsia (biopsychosocial) gedh RO sed &
e ot o, STl feeRgThaTuREA @ 1, RidTfdeR, FetenRien STeIR, adufchiear gaeT,
SgaTefiaT onfoy @nfAnfed faermmt demfes gfeeton are.

AR TSTRIA = G1eRdT GHTSTAT dBHISTd TR0 SIcdTaRdeh 3Tg, d<d JHTSId I srufaymg
STfOT TREAST @ gidier. Teg URQT UTgar AFfieh SIRTGEETd i Sheun=aT doaiie IeedT TRer el ga
Y SR SMTOT FEULT THISTTAT T Hehi=t AT 4 A3 a9 AifgAT TU 201 TROW 318, 19 ediaR
TR STaesur 200 TeTT TR AFIaRds, AU T Schduul Sfeeh Yahiadian a
A% AFETER’ g A SR SN ffed Aiem avermrgd grdt el omg. ar Hifgdar g
TETSTAT Ged T A& SRt grerar Rafor s i SieTR, ATkt SUAR, Jagl-
Rgeet arfewft sy mifgd 2ot g, A ek fAfed fafay fawriar aeaimha sarem, o,
AT SHSTHIITS! aTIRuaTd 3d 3118, SHdehe dewiATthd aid ATfed Gighard) armdt sraraTend,
FufurgH a1 HifgaD i T IR UR U, Ma a9 AHEIUaR Hifedwn ufgedr TuaTd IERi-ar/
ARIGTAT AR STTSTR STIOT ITARIfASA A1t AT RS- IeardedT et STrae
Uighaactt. fengithf=ar amflie sTeRIaEs a¥a IREAS STed 8t a1d FI&iTd SaT Hifedea o=t cward
T TSRS AN SISTAL chetl. HIfgHT feRT ST ‘HeAiT TS ST 81 @Y fRIerenand
HUGT ST, STTSTT UGS G STTSatSeli-T JATeTs! el de 3Tg SHfOr gt Fatd ST [I&Tehear
TORET 3, § ALTTd BT JeATHefe HIaf-en, acfu[ehiean a8T e STeria=n gawifaudt
frereriated =t vard e,

AT ATEIaRAS -] Saeiciel § UTdhel Aaehid ehiqehIeds 318, IT HIfgHHT U UTdes!
ATHUATHTST THTSTTET, AT S0 a1 f1fSd Ta gechian T 3101 JeThR TS 3178,

SubQuestion No : 12

Q.12 A8 IRFATEG} ST ST iU ATEAH aTuRvATd ST ATar?
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Comprehension:

YT SART dIsides araT SfoT ficiean uem I am:

3Tg. FATRA TR et ST STSTR @ e AT ST fhdl theh % TilehiHed STE@UTR SHTad
SI?, TR TS, T THRT SATOT STSTR YIRS S1Ted, Thidch thh AUl T ATgld AegeaT fehar
NBErd he & ATEId Aegd fchaT T SUUT AThs Geiel hed Bidl. STTIdeh SRIY Hae—<aT STRIarT
m@wﬁmmﬁmﬂﬁzﬁsﬂﬁﬁmm ITTSTE! AT STTSTR, AT STTSTRU,
AMEIUARAS S, AT ATETed AT SRS TRGHEST Mg 30T TTeee sield T STaeare s
qred.

T gl aui deThiT TaATRT hid AT 3T AT 37Tt 3118 I, AR IR, ATIIaRISH
giHTRS THUATIT §Rehl- THTSITAT Tdd WRIGH deeld dTerell 3Tg SA1f0T Teh A UaRdSa FUH &
U EEUTR 19 31T, YT aRiel STof THTSIAT el WA, AR ISR § 3157 <A, Fof,
CTSITEIT, TS TG, Ageh e gielral SMTOT H-cls AHREAT SURUReR TGl -1 &R Fiel 3 At ST,
A IR & AIRe fArRaRET smed Sfor ararS e mefia gf¥et S1TdT Fieni=T goges Ued
TTCAAT 31T, ARG STERITST Sifdes AFERTEg amifsia (biopsychosocial) gedh ROl Sed &
T arret o, STl feeRgThAaTuREA @ 13, RidTfdeR, F=lenRies STeIR, acdufchiear TaeT,
Sg=TefiaT onfoy enfnfed faermmt demfes gfteton are.

AR TTRIA= G1eRdT GHISTAT dBHISTd TR0 ScdTaRdeh 3Tg, d¥d JHTSIdIe srufaymg
STTOT TREAST @ gidier. Teg URQT UTgar AFfieh SIRTGEETd i Sheun=aT doaiid T¥edT TRetu el ga
Y SR SMTOT FEUT THISTTEAT T ehi=t AT 4 A3 a9 AifgAT TU 201 TRSH 318, T4 ediaR
TR STaesur 200 TeT TR AFIaRdS, AU i1 Schduul Sfeeeh Yahiadican Ma
A% AFETER’ g A SR SN ffed Aiem aveRmmgH grdt ddelt ame. a1 Hifgdar g
TETSTAT Ged T A& SRt grerar Rafor s A SieTR, ATkl SUAR, Jasl-
TROHST FTfawdt AT A1fddt 3ot 3. A R fAvifed fafae fvaiar aesiamha sarem, usids,
AT SHSTHITS! aTIRuaTd 3d 3118, SHdehe dowiATthd aig ATfed Gigrard) armdt sraraTend,
JuTUTE a1 HifgHa diF T IR UR USa. 9 a9 AEUaR Jifgi=ar ufeedn Toard e/
ARIGTAT AR STTSTR STIOT ITARIATA ATfgelt AT RS- IreaTdedT et STa
Uighaactt. fergithfar ARl sTeRIaEs a¥a IREAST STed 8t a1e S1&iTd BaT Hifedea go=aT Tward
T TSRS AN STSTII chetl. HifgHaT feRT ST ‘Hei=T TS ST 81 @Y fRIgrenand
HUGT SATAT. TSI UTaUGSAT G STTSatSeli=T JATeTS! el de Mg SO gt Fafd ST [I&Teheat
FIIETCAT ST, § AL BT FeArTelTel W1 -eh, TclehleaT J8d STed AeTHdedT qrwifa
frereriated Taf svard e,

AT ATEOaRAS ] Saeiciel § UTdhel Aaehid ehiqehleds 318, IT FIfgHHT Tueh UTdes!
ATHUATHTST THTSTTET, AT S0 a1 f1fSd Ta gechian TgHTT ST101 JeTehR TS 31Tg.

SubQuestion No : 13

Q.13 ydieraht fatu=ms wiord?
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Comprehension:

YEIdT SART dIsiYdes ara SfoT feciean uem I am:

3Tg. AR TR et ST STSTR @ e 1T ST fohdl theh Ia% Ailehi el STEBUTR SHTed
SI?, TR TS, T THART SATMOT STSTR YIRS S1Ted, Thidh thh ATUSITST T ATgld AegeaT fehar
NBErd he & ATEId Aegd fchaT T SUUT AThs Geiel hed Bidl. STTIdeh SRIY Hae—<aT STRIarT
m@wﬁmmﬁmﬂﬁzﬁsﬂﬁﬁmm ITSTE! AT STTSTR, A STTSTRU,
AMEIUARAS S, AT ATETed AT SRS TRGHEST 3Mgd 30T JTeee sield T STaeareT s
qred.

T et auiq deThiT AR hid AT Y AT 37Tt 3118 Fl, AR TR, AIIIRISH
giHThS THUATT §Rehl- THTSITT Tdd WRIGH deeld dTerell 3Tg SAf0T Teh A UaRdSa FUH &l
U EEUTR 19 31T, YT aRiel STof THTSIAT el WA, AR ISR § 3157 <A, Fof,
CTSITEIT, TS TG, Ageh e gielral SMTOT H-cls AHREAT URUReR TGl -1 &R FrTel 3 At ST,
A IR & AIRe fArRaRET smed Sfor ararS e mefia gf¥et S1TdT Fieni=T goges Ued
TTCAAT 3. ARG STERITST SAfdeh AFERTET amifsia (biopsychosocial) gedh RO Sed &
T arret o, STl feeRgThAaTuREA @ 13, RidTfdeR, F=lenRies STeIR, acdufchiear TaeT,
Sg=TefiaT onfoy enfnfed faermmt demfes gfteton are.

AR TTRIA= G1eRdT GHISTAT dBHISTd TR0 ScdTaRdeh 3Tg, d¥d JHTSIdIe srufaymg
STfOT TREAST @ gidier. Teg URQT UTgar AFfieh STRTGEETd i SheuT=aT doaiie I¥edT TRetd el ga
Y SR SMTOT FEUT THISTTAT T ehi=t AT 4 A3 a9 AifgAT TU 201 TRSH 318, T4 ediaR
TR STaesur 200 TeTT TR AFIaRas, AU i Schduul Sfeeeh Yahiadican a
A% AFETER’ g A SR SN ffed Aiem aveRmmgH gTdt ddelt ome. ar Hifgdar g
TETSTAT Ged T A& SRt grerar Rafor s A SieTR, ATkl SUAR, Jasl-
TROHST FTfawdt AT A1fddt 3ot 3. A R fAvifed fafae fvaiar aesiamha sarem, usids,
AT SHSTHIITS! aTIRUaTd 3d 3718, SHdehe dowiHTthd aig ATfed Gighard) armdt srareTend,
JuTUTE a1 HifgHa diF T IR UR USa. 9 a9 AEUaR Jifgi=ar ufeedn Toard e/
ARIGTAT AR STTSTR STIOT ITARIASA A1fgelt AT RS- IrsardedT et STe
Uighaactt. fergithfar amflie sTeTRIaEs a¥a IREAST STed 8t aTe S1&iTd SaT Hifedea o=t TwaTd
T TSRS AN STSTII chetl. HifgHaT feRT ST ‘Hei=T TS ST 81 @Y fRIgrenand
HUGT SATAT. TSI UTaUGSAT G STTSatSeli=T JATeTS! el de Mg SO gt Fafd ST [I&Teheat
FIIETAT 3T, § AL ST HeArTel el W1 -eh, TcUlehleaT J8d STEd AeTHdedT qrwi o
frereriated ot svard e,

AT ATEOaRAS ] Saeiciel § UTdhel Aaehid ehiqehleds 318, IT FIfgHHT Tueh UTdes!
ATHUATHTST THTSTTET, AT S0 a1 f1fSd Ta gechian TgHTT ST101 JeTehR TS 31Tg.

SubQuestion No : 14

Q.14 S@sTART GieTdeh! ShIvTl T gel-id hHt 31Tg?
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Comprehension:

YT IART dIsiYdes e 0T feciean uem I am:

3Tg. FATRA TR et ST STSTR @ i AT ST fohdl theh % TilehiHed STEBUTR SHTed
SI?, TR AT, T THART SATOT STSTR YIRS S1Ted, Thidch thh AUl T ATgId AegeaT fehar
NBEId hel & ATEId Acgd fchaT T SUUT AThs Geel hed Bidl. SITIdeh SRNY Hae-<aT STRIArT
m@wﬁmmﬁmﬂﬁzﬁsﬂﬁﬁmm ITSTE! AT SITSTR, AT STTSTRU,
AMEIUARAS S, AT ATETed AT SRS TRGHEST 3Mgd 30T TTeee sierd T STaeareT fafsdr
qred.

T el auia deThiT TaATRT hid AT 3T AT 37Tt 3118 I, AR TR, AIIIaRAISH
JiHThS THUATIT §Rehl- THTSITT Tdd WRIGH deeld dTerell 3Tg 10T Teh A UaRdSa FUH af
U EEUTR 19 1T, YT axiel STof THTSIAT P! WA, AR ISR § 3157 <A, o,
LTSI, TS TG, Ageh e gielral MTOT H-cls ATREAT URUReR UGl -1 &R Biel 3 At ST,
A AR & IR fArRaRET smed Sfor ararS T mefia gt S1TdT Fieni=T goges Ued
TTAAT 31T, ARG STSRITST Sifdeh AFERMEg amifsia (biopsychosocial) gedh RO Sed &
e arret o, STl feeRgThAaTuREA @ 1y, RidTfdeR, F=tenRies STeIR, acufchiear gaeT,
gaTefiaT onfoy enfAnfed faermmt demfes gfteton are.

AR STSTRII= G1eRdT GHTSTAT dBHISTd URIU STcdTaRdeh 3iTg, d¥d JHTSIdIe srafayma
STfOT TREAST @ gidier. Teg URQT UTgar AMfieh SIRTGEETd i SheuT=aT doaiie et TRerd el ga
Y SR SMTOT FEUT THISTTEAT T ehi=t AT 4 A3 a9 AifgAT TU 201 TReH 318, 19 ediaR
TR STaesur 200 TeT TR A IaRas, AU i1 Scihduul Sfeeeh Yahiadican Ma
A% AFETER’ g A SR SN ffed Aiem aveRmrgH gt ddelt orme. ar Hifgdar g
TETSTAT Ged U A IRt grerar Rafor s A SieTR, ATkt SUAR, Jasl-
TROHST FTfawdt AT A1fddt 30t 3. A R fAvfed fafae fvaiar aosimmha sare s, usids,
AT SHSTHIITS! aTIRUaTd 3d 3718, SHdehe dowiATthd aig Afed Gighard) armdt sraraTens,
JuTUTE a1 HifgH a9 e IR UR USe. 9 a9 AEuaR Jifgi=an ufeedr Toard e/
ARIGTAT AR STTSTR STIOT ITARIATA ATfgelt ARSI IrsaTdedT et STrae
Uighaactt. fergithf=ar ARl sTeTRIaEs a¥a IREAST STed 8t a1e S1&iTd BaT Hifedea go=aT Tward
T TSRS AN SIS chetl. HifgHaT feRT ST ‘HeiHT TS ST 81 @rY fRIgreniand
HUGT SATT. TSI UTaUGSAT G STTatSeli-T HATETS! el de g SO gt Fafd ST [I&Teh<ar
FIIETCAT S, § AL ST FeArTel el W -eh, TclehleaT q8d STed el qrwi o
frereriatad aaf svard e,

AT ATEOaRAS -] Saeiciel § UTdhel Aaehid ehiqehIeds 318, IT HIfHHT eTueh Tdes!
ATHUATHTST THTSTTET, AT S0 a1 f1fSd Ta gechian T+ STI01 JeThR RS 31Tg.

SubQuestion No : 15

Q.15 FHTSII StefITe St REweT R gidia. SrRf@d A=aran UehR Fivm.
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Comprehension:

Yl SART dIsiYdes e SfoT feciean uem I am:

AT SIS TARTHIE hedd Ahedd el ST, SIal AT ST ATd ST ST X RIaiHT
faahgt g FHa. AT 5 Jesrd! anfawdt foifea e sreyot erery ATEL. 7a 3ot A1t ar regra oref
ST 318 o TEUTST TR ATeft, At ATl ordt T aref.

STISITAT qateid AT sk ATt STUehd Hedld. TRATEHRR &l AT He@Teiel S&drd. STerquft
ST AT GUET FRATITET ST ST SATUT Gehasld AT G STIRMardeh gieah
AT HiSet aR AThTAT AT iehe ALTCTI FRUd fHad A6,

SNBGH T ATt FRRARS A0t S7fOT T IR el tet fReT hres! et aRfRdwed Aratan
SHE-TehH SR IetacaTHTO! SR §aT UR SHa-Td SR 318 gl 9. TS IT AT SHa-ehATd
T FEIAR AdTd. TESTESIT B MRUTRY ATt el RO SJedd ATard, T AlfgetaR e At
STreell STTdTd SATfOT 79T ST e 39 S13TTd fAHTaetl SITdTd fhar e STraTd. rg) ATt

GRAT AT BT AT ATGe! HATH Thee ATl el FaTRIHT BTV heee] HISdTd, SATaeaT fHent=aT Aoy
AT YA AT Ueh *id §Id ATCaTel shedld. gl ETOf AT TR THAER UaTe ShdTd.
PTET IATE! AT ST ST IERYH ST,

SIS YehT TUATER HIUE WS ifciedarard! gEI+ UgTae fRrerd!. 8T Tt UedehreaT STgsTd
PTTT Ib! I AT A aF el Adehid Tl &al. §T Tea-ar A= SIS ATcaiaed
RTET thch USd STRTAT. ATl el Jcehed hielft TYETd A STl STEH e ST che HTUTE
AT LNt U, SiTueaT Tl STgsIThs de¥erds UTguaTe eTHdT JieTd ad. SeraiRraT Qe IR
TEUATT d 59 STTd dhalfod. e ATedThs Al e STauarths JaraRuRd R & S, Aremdt
Aot &} ATUTHTET AU STgH 3ad. AU g aeaa™eT HaATeRd ATd! AT STat. a¥
FifITTIHTUr R AT STUeT SFHTSTT R STaeanRft STSe! ST, UoT deig! YR GHTSI gt AT
ST ST STTdTd. ST FHTSI I AT Te 7gwd a7 AT fEetel] FTTes! A1d ATaw-Ta! Aafd Ad.
AT UTT Yepel T faR Shell @R fAene ‘i’ a1 gaea Arard iTest ATt Hieard. Sfor gura
HeTfEd STaeAThs e ATl e [SIegTesT UTHTe Yehd et gerd ST TSI Sl A Sifcidhs
I SHTeled] T Geaeaawdd gt ATcard! Sauas Sgaw |iY urad i e S7eft et arg AnTet!
g, A Ul T orss fohan aeedt afgur & dedter aweur fudien wrsft wrfga A, smyfe
SferLelles AT theh Uehd S0 STHUAThS d2UTET thel STHeAT HeAHT ATUedTehe e URUTRS
FRIBHAR AT T [USIAT THSIGA TG AT ch ehrd 317 T AT, ATTeAT 3178, AT STaedT
Shgasielta SEe Jae gid STTe. Ydl Qeand) e fohar awq suedr s arg suar §ag gidl A
STteTE T, Fadn geft offt srmah. Y@ g @rd Ao wgrh g Srid. Smgerhl gl
QRHehIAT TS SUATH {TaT Bld, STIUR HTaeEe SEIeRITd gidl. SITdT T e T dhIetarg] 81d
AT SATed. ITaT e g vl TReid 318 Gae AT el

SubQuestion No : 16

Q.16 FEaT=aT A Wa:&HS Hforearardt g argvt € ufthar &1 g srard?

Ans

25 1. el Sehed aTeeaTyss
x 2. TEH WIa-dT WhR hedHes

of 3. T st Parcas

X 4. T e A ST S

Question ID : 3786061877
Status : Answered
Chosen Option : 3




Comprehension:

Yl SART dIsIYdes ara 0T feciean uem ITr am:

AT SIS TARTHIE hedd Ahedd el ST, SIal AT ST ATd JTSH ST X RraiHT
gt g FHa. AT 5 Jesrd! anfawdt foifea Fem sryot erer ATEL. 7e 3ot A1t ar regrE aref
ST 318 o TEUTST TR AT, At ATl ordt T aref.

TSI qateid AT sk ATt STUehd Hedld. TRATEaR &l AT HeTeiel S&drd. STerquft
ST AT GUET FRATITET STH ST SATUT Gehasld AT IS GU STIRMardeh giea
AT HiSet aR AThTAT AT ehe ALTCTI HRUd fHad A6,

SNBGH T AT fRRARS AUt S7fOT T IR el et fReT hres! stesf aRfRfwed Areatan
STHa-TehA SR IetacaTIHTO! SR §aT UR SHa-Td SR ST€ gl 9. AT aT AT SHa-ehATd
T FEIAR AT, TESTIESIT B MRUTRY ATt el RO SJedd ATald, T AlfgetaR e At
STreel! STTdTd SATfOT 79T SIS e 39 S13TTd fAHTaetl SITdTd féhar e STraTd. arg) ATt

GRATC AT BT AT ATGe! HATH Thee ATl el FaTRIHT BTV e HISdTd, SATaedT fHeRt=aT Aoy
AT YAARER AT Ueh *id §Id ATCaTe Shedld. gl ETOM AT TR THAER UaTe SdTd.
PTET IATE! AT ST ST IERYH ST,

SYSTAT Yeh! TUATER AU Wdl.dhs AfcTtdarard! gEI+ Ugrae fRrerd!. 8T Tt Uedehr=aT ATgsTd
T I} I AT A aF el Adehia Tl &al. §T TeA-iar A= SIS ATcaiaed
TSI thech USd STTAT. TNl el JcehedT hielfl TYETd A STl STEH e ST che HTUTE
AT LMYt eI, SiTueaT Tl STgsIThs de¥erds UTguaTe eTHdT JieTd ad. SeraiRraT Qe aiik
TEUATT d 59 STTd dhalfod. e TIedTehs AN e STauarths JaraRuRd R & S, Aremdt
Aot &} ATUTHTET AU SigH 3ad. AU g aeaaRe T HAATeRE ATl AT STat. a8
FifITATHHTUr I AT STUeT SFHTSTT R STaeanRft STSe! ST, UoT dvig! YR GHTSId gt AT
ST ST STTdTd. ST FHTSI I ATede 7gwd a1 AT fEetel] FTaTes! A1d ATaw-Ta! Aafd ad.
AT UTT Yepel T faR Shell @R fAene ‘A’ a1 aea Arard irest ATl Hieard. Sfoy wgura
HeTfEd STaAThsIe ATl [SIegTesT UTHTe Y et g ST TSI Sl A Sifcidhs
T SHTeled] T GEaeaawdd gt ATt Sahuas Saw |iY urad i ehra S7eft et arg AnTet!
g, A Ul T orss fohan aeedt afgor & Sedier aweur fudien wrsft wrfga A, smyfe
SferLetles SATdT theh Uehd S0 STHUAThS d2UTET thel STHAT HeAHT ATUedTehe e URUTRSG
FRIBHAR AT T [USIAT THSIGA TS AT ch ehrd 317 T I, ATTeAT 3178, AT TaedT
Shgasielta SEe I&e gid STTe. Ydi Qeane) e fohar a%q suedr s arg Suard §ag gidl s
STteTE T, FaYun geft offft srmah. @ g @rd Ao wgrh g Srid. Smgerhl gid.
GRHehIAT TS SUATH {TaT §ldl, STIUR HTaeEe SSIeRITd gidl. SITdT T e T dhIearg] 8id
AT SATed. ITaT e g vl TReid 318 Gae AT ehl.

SubQuestion No : 17

Q.17 ‘&t arfgfiar senfRa 1<t St ST’ an arerarde sreRf@d eregr=h ST gimm.

Ans

25 1. vl sre
X 2. Rgwor
of 3. et s

X 4. iR

Question ID : 3786061880
Status : Answered
Chosen Option: 3




Comprehension:

YEIdT SART dIsiYdes e SfoT feciean uem ITx am

AT SIS TARTHIE hedd Ahedd el SITATd. Slal AT ST ATd ST STdTd X RraiHT
faahgt g 994, AT §d Jesrd! anfawd foifed Fem sryut erer ATEL. 7e 3ot A1t ar regrE aref
SR 318 o TEUTST TR AT, At ATl ordt o aref.

TSI qateid AT sk ATt STUehd Hedld. RATEaRR &l AT HeTeiel S&drd. STerquft
ST AT GUal FRATAET S STeires Y07 Gehaid AT ISl G SMRIEreh gl
AT HiSet aR FThTT AT iehe ALTCTI HRUd fHad A6,

SNBGH T ATt FRRARS A0t 37fOT T IR el et fReT hres! stesf aRfRxfwed Aratan
SHE-TehA SR IeTacaTHTU! SR §aT UR SHa-Td SR 318 gl 9. TS AT AT SHa-ehATd
T TEIAR AdTd. TESTIESIT B MRUIRY ATl el RO SJead ATaId, T ATfgeaR e At
STreell STTdTd STTOT 79T ST e 39 S13TTd fAHTaetl SITdTd féhar e STraTd. arg) Ardt
GRATIAT hIBTd T TG TaT chieed AT Tel UATRIHT QIGT0T e HISdTd, STaeT fFehieaT SAfoT
AT YA AT Ueh *id I ATCaTel shedld. gl ETOM AT TR THAER UaTe ShdTd.
PTET IATE! AT ST ST IERYH ST,

SIS Yeh! TUATER HIUH Wdl.dhs Aifcitdarard! gEI- Ugraer fRrerd. 8T T Uedehrea STgsTd
T I} I AT A aF el Adehia Tl &al. g1 TeA-aR A= SIS Acaiaed
TSI thech USd STTAT. ATl el cched hielft TYETd A STl STgH HTa=aT T chee HT0TE
AT LNt FadTd. SiTueaT Tl STgsThs de¥erds UTguaTH eTHdT JieTd ad. SeraiRraT Qe aiik
TEUATT d 59 STTd dhalfad. A ATedThs Al e STIuarths JaraRuRd R & S, At
Aot &} ATUTHTET AU SigH 3ad. HTUIT g aeaaRe T JATeRE AT} AT Srat. a
FifITTIHTUr I AT STUeT SFHTSTTERd STaeaTRft STSe! ST, UT aig! R GHTSI gt AT
ST ST STTdTd. ST FHTST I AT Te 7gwd a7 AT fetel] FTaes! A1d ATaw-Ta! A& ad.
AT UTT Yepel T faR Shell @R fAene ‘Iera’ a1 Qaea Arard TiTest ATt Hieard. Sfoy gura
el STaTheIe ATedid e [SIegTesT UTHTe Yehd et g STl TSI 3l A Sifcidhs
T SHTeled] T Geaeaawdd gt ATcard Sehuas! Saw |lY uTad i ehra S7eft et arg AnTet!
g, A Ul e s fohan aeedt afgor & Sedier aweur fUdiem wrsft wrfga Al sy
SferLelles ST theh Uehd S0 STHUAThS d2UTET thel STHAT HeAHT HTYedTeheld URUTRS
PSR AT AT FAENAT TSI Time et Y ohrr ieft et arg anTeft are. =mes smue
Shgasielta SEe Jae gid STe. Yal Qeand) e fohar awq suedr s arg sudr §ag gidl A
STteTE T, FAYon geft offt srmah. Y@ g @rd Ao Gg i g Sieid. Smgerhl gl
YRHehIAT TS SUAT {TaT §ldil, STAUR HTaeEe SCIeRITd gidl. SITdT T el T dhIetaTg] 81d
AT SATed. ITaT T faR vt TReid 318 Gae AT ehl.

SubQuestion No : 18

Q.18 ‘srgsaT=An yatufe ArorETer sk Al st AT’ ar araard forarag wior emg?

Ans

F R

X 2. mmorarE
o 3. fzam
X 4. s

Question ID : 3786061879

Status : Answered

Chosen Option : 3




Comprehension:

YEIeT IART chlcssigeeh Tl SATTOT fereter usimt S<ik 2

AT SIS TARTHIE hedd Ahedd Jdel ST, Slal AT T ATd ST STdTd X RIaiHT
faahgt g FHa. A1 5 Jeord! anfawdt fofed Fem sryut erery ATEL. 7e 3ot A1t ar <regrE oref
ST 318 o TEUTST TR AT, At ATl ordt o aref.

TSI qateid AT sk ATt STUgehd Hedld. RATEHRR &l AT HsTeiel S&drd. STerquft
ST AT GUET FRATTET STHa ST 0T Gehasld AT GU STIRMardeh g
AT HiSet aR ATEhTAT AT ehe ALTCTI FRUd fHad A6,

SNBGH T ATt FRRARS A0t 37IfOT T IR ettt fReT hres! srmesf aRfRdfwed Areatan
STHa-TehH TR IeacaTHTO! SR §aT UR SHa-Td SR ST€ gl 9. AT aT AT SHa-ehATd
T FEIAR AdTd. TESTESIT B MhUTRY ATt el RO SJedd ATald, HHT AlfgeaR e At
STreell STTdTd SAIOT 79T ST e 39 S1TTd fAHTaetl SITdTd féhar e STrard. arg) ATt
GRATIAT hIBTd T ATGES! TaT cheed AT Tel UATRIHT IET0T e IS dTd, STaeT fFehieaT SAfoT
T YA AT Ueh *id I ATeaTel shedld. el ETOf AT TR THdER Uame ShdTd.
PTET IATE! AT ST ST IERYH ST,

SIS Yeh! TUATER HIUE Wdl:dhs AAfciedarard! gEI+ Ugrae fRrerd!. 8T Tt Uedehrea ATgsTd
T Ib! I AT A i el Adehia Tl &al. §T TeA-iar A=A SIS ATcaiaed
SRTET thch USd STTAT. ATl el cehed Shielft TYETd A STl STEH HTa=aT T che HT0TE
AT LNt FadTd. SiTueaT Tl STgsIThs de¥erds UTguaTH eTHdT JieTd ad. SereRraT Qe IR
TEUATT d 59 STTd Phalfod. e ATedThs AN e e STIuarths JaraRuRd R & S, Aremdt
Aot &} ATUTHTET AU SigH 3ad. AU g aeaaweT HAATeRE ATd! AT Srat. aX
ifITATIHTUr R AT STUeT SHTSTT R STaeanRft STSe! ST, UoT deig! YR GHTSId gt AT
ST ST STTdTd. ST FHTSI I ATedie Ag<d a1 AT fEetel] FTaTes! A1d ATaw-Ta! dafd ad.
AT UTT Aehel T faR Shell @R fAehe ‘i’ a1 Gaea Arard iTest ATt Hieard. Sfor gurTa
P ARSI AT [SIegTaT UTHTe H¥ehe <1 Jo-id STTET STTBTaTGST SXdl. 713 Sfeidhs
I SHTeled] T GEaeaawdd gt ATcard Sahuas Saw |lY urad i ehra S7eft et arg AnTet!
g, A Ul T orss fohan awedt afgor & Sedier awur fudien wrsft w1fga A, smyfe
Sferelles AT theh Uehd S0 STHUAThS d2UTET thel STEeAT HeAHT ATUedTehe e URUTRS
PSR AT AT FIENAT TSI TiTTe At Y e reft et arg AnTeft a1me. e smae
Shgasielta SEe S&e gid STTe. Ydi Qeand) e fohar awq suedr s args Suar §ag gidl s
STteTIE T, FAYon geft offft srmah. g g @rd Ao wg ol g SreTd. Smgerhl gl
QhHehIAT TS SUATH {TaT §ldl, STIUR HTaeEe SCIeRITd gidl. SITdT T e T dhIearg] 8id
AT STed. ITaT e g vl TReid 318 Gae AT el

SubQuestion No : 19

Q.19 ATegiET Sfiashi AT AEhT qEIah! HIvrdT geah Fiffiacter argl?

Ans

o 1. e gesar

X 2. et fRRde @
25 3. TRERiT St 9ot
< 4. 7 oot

Question ID : 3786061881
Status : Not Answered
Chosen Option : --




Comprehension:

YEIdT SART dISIYdes e SfoT feciean uem I am:

AT SIS TARTHIE hedd Ahedd el ST, Slal AT T ATd ST STdTd X SRIaiHT
faahgt g T84, AT 5 Jesrd! anfawdt foifea Fem sryut erer ATEL. 7a 3ot A1t ar <regrE oref
ST S8 o TEUTST TR AT, At ATl ordt T aref.

TSI qateid AT sk ATt STUehd Hedld. RATEaRR &l AT H@Teiel S&drd. STerquft
ST AT GUET FRATTET ST ST SATUT Gehasld AT IS QU STIRIardeh gieah
AT HiSet aR ATEhT=AT AT iehe ALTCTI FREd fHad A6,

SNBGH T AT FRRARS A0t S7fOT T IR ettt fReT hres! et aRfRxfwed Aratan
STa-TehH SR IetacaTIHTO! SR §aT UR SHa-Td SR ST€ ShTa! 9. AT AT AT SHa-ehATd
T FEIAR AdTd. TESTIESIT B MhUTRY ATl el RO SJedd ATald, T AlfgeaR menfa At
STreell STTdTd SATOT 19T ST AT 39 S13TTd fAHTaetl SITdTd fhar e STrard. rg) ATt
GRATIAT hIeBTd T ATGE! TaT chied AT Ted UATRIHT IGT0T e IS dTd, STaedT fFehieaT SAfoT
AT YA AT Ueh *id §Id ATCaTel ehedld. gl ETOM AT TR THAER UaTe SdTd.
PTET IATE! AT ST ST IERYH ST,

SYSIT=AT Yeh! TUATER HIUH Wdl.dhs AfcTtdarard! gEI- Ugrael fRrerd!. 8T Tt UedehreaT ATgsTd
PTTT Ib! I AT A aF el Adehia Tl &al. §JT TeA-ar A= ARSI ATcaiaed
SRTET thech USd STTAT. ATl el cehed Shielfl TYETd A STl STgH HTa=aT N che HTUTE
AT LNt FEdTd. SiTueaT Tl STgsIThs de¥erds UTguaTe eTHdT JieTd ad. SeraiRraT Qe IR
TEUATT d 59 STTd Phalfod. Ao ATedThs AN e STauarths JaraRuRd R & S, Aremdt
Aot &} ATUTETET AU SigH 3ad. AU g aeaaReT HATeRE ATl AT STat. a8
FifITATIHTOr R AT STUeT SFHTSTT R STaeanRft STSe! ST, UoT aeig! YR GHTSI gt AT
ST ST STTdTd. ST THTSI I ATedie Agwd a1 AT fetel] FTaTes! A1d ATaw-Ta! A& ad.
AT UTT Aeehel T faR Shell @R fAene ‘i’ a1 gaear Arard IiTest ATl Hieard. Sfor gura
P ATTRTRSI AT el [SIegTaT UTHTe H¥ehe <1 Jo-id STTET BTG SXdl. 713 Sfeidhs
I SHTeled] T GEaeaasdd gl ATcard! Sauas v |iY urad &t ehra S7eft et arg AnTet!
g, A Ul T orss fohan awedt afgur & Sedier aweur fUdien wrsft wrfga A, smyfe
Sferellges HATdT theh Uehd S0 STHUATHS d2UTET thel STHeAT HeAHT ATUedTehald URUTRS
PSR AT A FIENAT TSI TiTTe At Y e reft et ar AnTeft a1me. e smae
Shagasielta SEe J&e gid STT8. Ydi Qeane) e fohaT a%q suedr s args Suar §ag gidl s
STteTE T, FaYT geft offt srmah. Y@ g @rd Ao wgrht g Srid. Smgerhl gid.
QRHehIAT TS SUATH {TaT §ldl, STIUR HTaeEe SEIeRITd gidl. SITdT T e T dhIearg] 8id
AT SATed. ITaT e g vl TReld 318 Gae AT el

SubQuestion No : 20

Q.20 FRAT=AT A ATUTHTY RS hegl ATET gia?

Ans

25 1. e e JeeeaR
X 2. areoTER

25 3. 25 T SR
W 4. Reromeh gefar grearier

Question ID : 3786061878
Status : Answered
Chosen Option : 4




Q.1 Major gases in soil are Ny, 05, and ___.

Ans X 1.H,
X 2.CH,
X 3.co
W 4.co,

Question ID : 3786061933
Status : Answered
Chosen Option: 4

Q.2 Agriculture entomology concerns the study of:

Ans X" 1. soil
25 2. fruits
X 3. flowers
W 4 insects

Question ID : 3786061916
Status : Answered
Chosen Option: 4

Q.3 Which of the following is NOT an important characteristic of organic farming?

Ans x 1. Maintaining a diversity of plant and animal species as a basis for ecological balance

and economic stability

x 2. Ensuring the basic biological functions of soil-water-nutrients-humus continuum
X 3. Minimum use of purchased inputs, only as complementary to local resources

“ 4. Minimal and sustainable use of local resources

Question ID : 3786061953
Status : Answered
Chosen Option: 3

Q.4 Soil consists of four major components. Which of the following is NOT a component of soil?
Ans x 1. Organic matters

x 2. Water

X 3. Mineral matters

« 4. Inorganic matters

Question ID : 3786061939
Status : Answered
Chosen Option : 4




Q.5 Which of the following markets is based on degree of competition?
Ans X" 1. Forward market

x 2. Periodic market
X 3. Specialised market

( 4. Perfect market

Question ID : 3786061907
Status : Answered
Chosen Option : 2

Q.6 The management of Stem fly- a pest of maize, can be managed by using
kernel extract.

Ans X 1.4 percent

x 2. 10 percent

( 3. 5 percent

x 4. 8 percent

neem seed

Question ID : 3786061923
Status : Answered
Chosen Option: 3

Q.7 What is the Sanskrit word for rice?
Ans x 1. Laggura

W 2. vrihi
x 3. Dhanya

X 4. Godhum

Question ID : 3786061940
Status : Answered
Chosen Option : 2

Q.8 Organic agriculture systems are based on three strongly interrelated principles under
autonomous ecosystem management. Which of the following is NOT one of them?

Ans x 1. Crop rotation
x 2. Organic cycle optimisation
X 3. Mixed farming

J 4. Forest-crop intersection

Question ID : 3786061954
Status : Answered
Chosen Option : 4




Q.9 Riceis
Ans X" 1. mid
(2. short

X 3. very short

x 4. long

day plant requiring longer nights for maturity.

Question ID : 3786061944
Status : Answered
Chosen Option : 2

Q.10 Which of the following is NOT the major district contributing more than 86 percentage of
state's cotton production?

Ans X" 1. Hunumangarh

x 2. Alwar

X 3. Ganganagar

( 4. Jaipur

Question ID : 3786061964
Status : Not Answered
Chosen Option : --

Q.11 According to cotton advisory board, what was the provisional cotton production in India in
the year 2017-18 (in lakh bales of 170 kg each)?

Ans X 1386

75 2.290
W 3.377
/< 4.370

Question ID : 3786061961
Status : Answered
Chosen Option: 4

Q.12 Salinity is defined as a high concentration of in soils.

Ans x 1. organic matters

x 2. ions

J 3. soluble salts

X 4. insoluble salts

Question ID : 3786061936
Status : Answered
Chosen Option: 3




Q.13 Which of the following is NOT among the main objectives of secondary tillage operations?

Ans X 1. To cut the residues/stubbles of previous crop and mix it well with the soil
x 2. To make the field surface level and smooth to facilitate sowing operations
X 3. To destroy grasses and weeds by further cutting it into smaller pieces

« 4. To destroy the pest that have nests under the soil

Question ID : 3786061911
Status : Answered
Chosen Option: 4

Q.14 Based on the manner of connection with tractors, which of the following classification is
NOT true for a plough?

Ans X" 1.Semi-mounted type
« 2. Fixed type
X 3. Mounted type

x 4. Trailed type

Question ID : 3786061913
Status : Answered
Chosen Option : 2

Q.15 There are four stages in the functional growth of a market. Match the correct options:

Stages Market
a) First stage 1) Dealing with samples
b) Second stage 2) Specialised markets
c) Third stage 3) General markets
d) Fourth stage 4) Dealing with grades

Ans X' 1 a3,b1,c4,d2
W 2.a3,b2c1,d4
X 3.a2,b-4,c1,d3
/X 4.a1,b2,c3,d4

Question ID : 3786061908
Status : Answered
Chosen Option : 1

Q.16 It is estimated that about stored grains are lost every year due to stored grain pest in

India.
Ans o T74Q%
X 2. 80Q%
X 3 77Q%
X 4 75Q%

Question ID : 3786061917
Status : Not Answered
Chosen Option : --




Q.17 Photosynthetic pathway is a critical factor to consider, particularly since many of the world's
most problematic weeds are:

Ans X' 1.C3plants

J 2. C4 plants
x 3. C2 plants
X 4. CAM plants

Question ID : 3786061949
Status : Answered
Chosen Option : 1

Q.18 In horizontal tillage, also known as broadcast tillage, depth of tillage is
the field.

Ans X" 1.undulated

X 2. uneven
f 3. uniform

X 4. non-uniform

throughout

Question ID : 3786061912
Status : Answered
Chosen Option : 2

Q.19 Lantana camara is NOT among some of the important weeds of:
Ans ( 1. cropped areas

x 2. range lands

X 3. pastures

x 4. non-cropped areas

Question ID : 3786061948
Status : Answered
Chosen Option: 1

Q.20 What does PI=dAIP/D help in determining?

Ans x 1. Performance Index of soil inversion
x 2. Performance Index of draft
X 3. Performance Index of effective field capacity

f 4. Performance Index of a plough

Question ID : 3786061914
Status : Answered
Chosen Option: 3




Q.21 Ideally, the crop is harvested when 90 percent grains are matured; delay may promote grain:
Ans X" 1 drying

x 2. germination

X 3. rot

( 4. drop

Question ID : 3786061942
Status : Answered
Chosen Option : 4

Q.22 Natural farming all components of modern farming.

Ans x 1. acceptance is context dependent
( 2. totally eliminates

x 3. partially accepts
x 4. totally accepts

Question ID : 3786061952
Status : Answered
Chosen Option: 1

Q.23 What does IPM stands for?
Ans ( 1. Integrated Pest Management

X 2. Interim Pest Management
x 3. Integrated Peasant Management

X 4. Interventional Pest Management

Question ID : 3786061921
Status : Answered
Chosen Option: 1

Q.24 Based on the host they affect, pests are classified into four kinds. Which of the following is
NOT a part of the classification?

Ans ( 1. Non-structural pests
X 2. Storage grain pests
x 3. Household pests

X 4. Agriculture pests

Question ID : 3786061919
Status : Answered
Chosen Option : 1




Q.25 Based on whose recommendations does the Ministry of Agriculture fix MSP of cotton?

Ans ( 1. Commission for Agricultural Costs and Prices
x 2. Commission for Agricultural Costs and Procurement
X 3. Commission for Agricultural Supply and Prices

x 4. Commission for Agricultural Demand and Prices

Question ID : 3786061962
Status : Answered
Chosen Option : 2

Q.26 Which of the following is NOT a pest of paddy plant?
Ans x 1. Brown plant leafhopper

x 2. Leaf folder or leaf roller
x 3. Thrips

( 4. Shootfly

Question ID : 3786061922
Status : Answered
Chosen Option : 4

Q.27 Losses in storage are of multiple nature, including loss in weight, quality, nutritive and:
Ans X" 1 social value

X 2. health value
“ 3. market value

X 4. storage value

Question ID : 3786061924
Status : Answered
Chosen Option : 3

Q.28 Somatic reproduction is also called:
Ans X" 1 bisexual reproduction

x 2. non-reproduction
x 3. heterosexual reproduction

( 4. asexual reproduction

Question ID : 3786061929
Status : Answered
Chosen Option : 4




Q.29 The balance of trade is the difference between the value of:

Ans X" 1. export and quantity
x 2. import and supply
( 3. export and import

x 4. import and quantity

Question ID : 3786061910
Status : Answered
Chosen Option: 3

Q.30 Information about changes in forest covers and land use is essential to understand their
contribution to the emission or reduction of greenhouse gases and their effect on:

Ans X 1. ecological diversity
x 2. water pollution
( 3. climate change

x 4. air pollution

Question ID : 3786061958
Status : Answered
Chosen Option: 3

Q.31 Soil permeability is a broad term used to define the ability of the soil for:

Ans x 1. percolating water
x 2. retaining water
J 3. transmitting water

X 4. observing water

Question ID : 3786061935
Status : Answered
Chosen Option : 3

Q.32 Biennial weeds complete their cycle in

Ans " 1 one
X 2. quarterly
W 3.two
X 4. half

year(s).

Question ID : 3786061946
Status : Answered
Chosen Option : 3




Q.33 From soil microbiology view point, the most important role fungi play in soil is:

Ans X 1. decomposing inorganic matter
x 2. disinfecting the soil of pests
X 3. reducing the growth of weeds

f 4. decomposing organic matter

Question ID : 3786061928
Status : Answered
Chosen Option: 4

Q.34 Broadly speaking, there are

Ans X1 five
W 2 six
X 3.seven
x 4. three

soil zones in the world.

Question ID : 3786061931
Status : Answered
Chosen Option : 2

Q.35 Which of the following is NOT a critical stage of water management of paddy?

Ans x 1. Head emergence stage
X 2. Tillering stage
x 3. Grain filling stage

J 4. Harvesting stage

Question ID : 3786061943
Status : Answered
Chosen Option: 4

Q.36 A preliminary scheme of agriculture typology for the better knowledge of the inherent
agricultural characteristics and the tendencies in the changing spatial organisation of
agriculture was first drawn in:

Ans x 1. Denmark

J 2. Poland
x 3. Japan
25 4.China

Question ID : 3786061955
Status : Answered
Chosen Option : 2




Q.37 In Himachal Pradesh, for weed control in maize and rice crops,
mechanical method among farmers.

Ans x 1. shifting cultivation

is the popular

X 2. slash and burn

x 3. bewar
o 4 halod

Question ID : 3786061947
Status : Answered
Chosen Option : 4

Q.38 Micro irrigation
save water.

Ans { 1. drip and sprinkler

X 2. well
x 3. pumping set

X 4. pond

has emerged as a tool for effective management of resources which

Question ID : 3786061959
Status : Answered
Chosen Option: 1

Q.39 Gossypium hirsutum represents
Ans & 1.80 percent

( 2. 88 percent
X 3. 83 percent
x 4. 85 percent

of the hybrid cotton production in India.

Question ID : 3786061960
Status : Answered
Chosen Option : 2

Q.40 The intersection of the demand and supply curves indicates the equilibrium:
Ans J 1. price and quantity

x 2. supply and price
X 3. supply and quantity
x 4. price and supply

Question ID : 3786061909
Status : Answered
Chosen Option : 2




Q.41 In general, the problems ascribed to be created by the use of chemical fertilisers include(s):

Ans X 1. imbalance of nutrients and decrease in soil productivity
x 2. high energy use

X 3. pollution

J 4. multicropping

Question ID : 3786061950
Status : Answered
Chosen Option: 1

Q.42 Agricultural microbiology is concerned with:

Ans x 1. Study of interdependence of the microorganisms and their beneficiaries
x 2. Study of different organisms in a forest
J 3. Various roles played by microorganisms in agriculture in general

x 4. Various roles played by microorganisms in an ecological settings

Question ID : 3786061927
Status : Answered
Chosen Option : 3

Q.43 Match the average rainfall with climatic region:

Rainfall (mm) Climatic region
a) Less than 500 1) Sub humid

b) 500-700 2) Arid

¢) 750-1000 3) Semi arid

d) More than 1000 | 4) Humid

Ans X' 1 a-1,b3,c4,d2

W 2.a2,b3,c1,d4
X 3.a2,b-1,c4,d3
X 4.a4,b-1,c3,d2

Question ID : 3786061937
Status : Answered
Chosen Option : 2

Q.44 The principal element NOT to be considered while practising organic farming is:

Ans " 1.making available all the essential nutrients
x 2. maintaining a living soil
J 3. attaining sustainable normal yield

x 4. organic mulching for conservation

Question ID : 3786061951
Status : Answered
Chosen Option : 3




Q.45 According to Edwards Heath (1964), the pest is said to be "economic pest" if any pest
causes at least or more loss to the crops.

Ans X' 1.8 percent

X 2. 12 percent

f 3. 5 percent

X 4.10 percent

Question ID : 3786061918
Status : Answered
Chosen Option : 2

Q.46 Meso climate is concerned with the study of climate over relatively smaller areas between
km across.

Ans " 1.40 and 400
o 2.10and 100
/5 3.30and 300
X 4.20and 200

Question ID : 3786061938
Status : Answered
Chosen Option : 2

Q.47 Which of the following is NOT a part of the vegetative development of cotton development?

Ans x 1. Germination and seedling development
J 2. Fibre development
X 3. Development of root system and leaf

x 4. Canopy development

Question ID : 3786061963
Status : Answered
Chosen Option : 2

Q.48 Microbiology can be called as the study of:

Ans J 1. microscopic biological systems
x 2. biological systems
X 3. microscopic ecological systems

x 4. agro-ecological systems

Question ID : 3786061926
Status : Answered
Chosen Option: 1




Q.49 _____is the only country which grows all the four species of cultivated cotton i.e.
Gossypium arboreum and G. herbaceum (Asiatic cotton), G. barbadense (Egyptian cotton)
and G. hirsutum (American upland cotton) besides hybrid cotton.

Ans x 1. Bangladesh

x 2. Pakistan

/< 3.China
W 4. India

Question ID : 3786061965
Status : Answered
Chosen Option : 4

Q.50 Actinobacteria are as they grow in soils having relatively less moisture and partially
decomposed resistant organic matter.

Ans x 1. variable growers
( 2. slow growers

x 3. rapid growers

x 4. constant growers

Question ID : 3786061930
Status : Answered
Chosen Option: 3

Q.51 Which of the following is NOT an important technique of nursery?
Ans “ 1. Seasonal nursery

X 2. Wet nursery

x 3. Dry nursery
x 4. Modified Dapog nursery

Question ID : 3786061945
Status : Not Answered
Chosen Option : --

Q.52 The Chinese people used for the control of insect pests in enclosed spaces and
botanical insecticides for seed treatment.

Ans X" 1 bottom ash

X 2. leaf ash
“ 3. wood ash
x 4. coal ash

Question ID : 3786061925
Status : Answered
Chosen Option: 3




Q.53 Abiotic factors also refers to:
Ans X 1. agricultural factor

x 2. industrial factor
( 3. climatic factor

x 4. ecological factor

Question ID : 3786061920
Status : Answered
Chosen Option : 2

Q.54 The rise in water-table in any season may be a
Ans J 1. fluctuating

X 2. temporary
x 3. constant

x 4. permanent

phenomenon of a short duration.

Question ID : 3786061956
Status : Answered
Chosen Option : 4

Q.55 Based on the design, there are commonly four types of share. Which of the following is NOT
among the four?

Ans x 1. Slip share
x 2. Bar point share
x 3. Shin share

( 4. Shin nose share

Question ID : 3786061915
Status : Answered
Chosen Option : 4

Q.56 Physical properties of a soil type depend on the
Ans X" 1. compactness

X 2. scarcity
( 3. size
X 4. density

of particles in it.

Question ID : 3786061932
Status : Answered
Chosen Option : 1




Q.57 A soil aggregate is a naturally occurring cluster of soil practices with a
among them.

Ans X 1. tensile
o 2. strong
75 3. weak
X 4. dense

binding force

Question ID : 3786061934
Status : Not Answered
Chosen Option : --

Q.58 What percentage of fat does sorghum grain contain?
Ans X 1.8 percent

x 2.9 percent
( 3. 3 percent
x 4. 2 percent

Question ID : 3786061941
Status : Answered
Chosen Option : 2

Q.59 The word ‘market’ comes from which language?
Ans x 1. German

W 2. Latin

x 3. Sanskrit

X 4. Greek

Question ID : 3786061906
Status : Answered
Chosen Option : 2

Q.60 The development of rained areas must be undertaken to remove the
countries with an agricultural-oriented economy.

Ans x 1. eco-political

imbalances in

x 2. socio-political
J 3. socio-economic

x 4. cultural and economic

Question ID : 3786061957
Status : Answered
Chosen Option : 3
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